H & 0l & AHS B Ml A

A= FRBE= SN FHTED

Ofl &F2H

MEE
Ofl &k2h

=R T Y

=

189,025,394
21,746,298
14,160,656
428,873
2,000,000
14,349,290

136,340,277

200,415,786

211,390,392

oY
=
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0l0h
|~

oW

=

8,018,238
144,320
366,656
949,302

6,557,960

13,979,682

ADb,961,444

oA

=

7,984,418
144,320
366,656
949,302

6,524,140

13,945,962

Ab,961,544

Mo

6,022,241
37,320
703,340
5,281,581

10,819,671

A4,797,430

0y
ol
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W
5
0x
0

feXtel XNIEA

2,120,945

5,442,868

A3,321,923

>
=
e
e
| \J

28,545

75,868

NA47,323
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e

HZ22 Xt
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4

pal
0x
0

Fitel NI3AMY dE

O
oy
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S
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0
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88,800 x1&8x11&

o0 o 0
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0

0

0
e i
>

0q

c

0
~

Iy
0o
>
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I
I
o
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25,485,600 *12%

28,545

28,545
20,424
4,085
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3,059

75,868

NA47,323

T
M0
08

3,000

7,000

24,000

[he)
=
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10
el
af

O
S
o
o
W
=
pal
0x

A

& el NEAE 29

3,000,000

=

o

*‘]Al

=

3,000

3,000

7,000

A4,000

1,865,000

5,000,000

A3,135,000

w
S| &
=
N
o
rz

r

E
N
o
= 0x
>
11
HT
A

O
=
18
e

500,000 x640& 4
o20234 Kol E= K& Z(2xt)
500,000 *130E«9&

1,865,000
1,865,000

1,280,000

585,000

5,000,000

23,135,000

224,400

360,000

135,600

224,400

360,000

135,600




A= ZHEE= M ZHESEN
g ns=d
chelr gXtel & X3 EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
Smo AR e T < B Ofl &k ==
IEEEEEERE 224,400,000 *14! 224,400
ZH&eD| =& 2SEZH 16,700 13,000 3,700
201 e 8,000 1,000 7,000
01 AtR2telt] 8,000 1,000 7,000
OZEA BHI2H AAZURARS 2
1,000,000 14 1,000
ZEANZMACIIIE2s 29
7,000,000 * 14! 7,000
202 Ot 1,500 3,000 21,500
01 2UHo4 1,500 3,000 21,500
OZHEH =& 0d|
20,0002 *3H *253] 1,500
203 PR =&H| 7,200 9,000 21,800
03 AR FXIHRFAIH| 7,200 9,000 21,800
OANBFEALRFI(ZE)
4,800,0009! 514! 4,800
OAHFHADRFE (DHE)
2,400,000 14 2,400
HEAUXIEIAL 147,000 245,000 208,000
& 29,400
Al 117,600
101 e124d| 147,000 245,000 98,000
= 29,400
Al 117,600
M IIRIZ2Z2XSE 147,000 245,000 208,000
OgisURelAlg 1At
147,000,000 14 147,000
[ 29,400
Al 117,600
NEBSH L2l AF (M BAIY) 391,660 376,070 15,590
& 254,579
Al 137,081
101 2124d| 347,660 332,070 15,590
= 225,979
Al 121,681
M IIRIZ2Z2XSE 347,660 332,070 15,590
OXNSSSH LXtelAr 4|
347,660,000& * 14! 347,660
= 225,979
Al 121,681
201 Ler2| 4,000 3,000 1,000
& 2,600
Al 1,400
01 At 22|l 4,000 3,000 1,000




A= JHEE= A BHEEL
M NEFM
chel: dXel #E XA (SH9 H2)
AR .2 - HH . t:}.<,>_|(§|)1|) c NIEAIY - HA S Of| AFOH SEE Hnz=2
OXNSEZBsH LAeIArY =&
4,000,000 14! 4,000
T 2,600
Al 1,400
206 =4I 40,000 40,000 0
= 26,000
Al 14,000
01 =4I 40,000 40,000 0
OXNGZsH LRe/ArY =&l
40,000,000& *14! 40,000
= 26,000
Al 14,000
MNoILRIe| EE 1,344,326 1,332,369 11,957
101 @124H| 1,340,616 1,310,869 29,747
M JIZtHI2E2 S E 1,340,616 1,310,869 29,747
OgXtel WA IR 1,340,616
=JllZ2g 59, 160& x160H 100! 946,560
oFFH 59,1603 160K 16 151,450
S LLPNES=, 59, 160& 160 x32 28,397
o 2HAlH| 5,000 160100 80,000
cAUEE A RES
1,118,407 ,000& *12% 134,209
201 23| 3,710 1,500 2,210
01 AFS2teltl 3,710 1,500 2,210
O Xl =& 23| 3,710
ol =0 XA 70,0002 231 *13] 1,610
c4UEE 2elAAE 0122 Xz
50,000 *12& 600
CANREE ¥ 2HEES ¥
1,500,000 * 14! 1,500
LREINRAE 29 30,944 36,304 25,360
201 2Et2 & 28,944 34,144 25,200
01 AFS2t2ltl 20,200 23,400 23,200
Os8s M& 3,000,000 *14 3,000
OMRES & 2ZEE &
400,000 x 12 4,800
ORI KAl
200,000& 122 2,400
OLEA LAl SEHHM HMZ
10,000,000& * 14! 10,000
02 Z324l 744 744 0
Os4&l2led] 40,0002+ 1CH*12& 480
ORI S&lal&t]
22,0003 1CH+ 128 264
03 A2 EH| 8,000 10,000 22,000




=: dNeE= A - BHEEL

o™ LTS/
chel: dXel #E XA (SH9 H2)
AR .2 - HH . t:}.<,>_|(§|)1|) c NIEAIY - HA S Of| AFOH SEE Hnz=2
Smo AR e T == B Ofl &k ==
OTQIRE hetol & A}
4,000,000 14! 4,000
Ozt LXtelagd 22
4,000,000 14 4,000
202 04t 2,000 2,160 A160
01 2LHOLI 2,000 2,160 A160
OFGaSA R 0]
20,0003 x2H+502] 2,000
axteletesl N 20,000 20,000
201 ZEH2 & 20,000 20,000
03 A2 20,000 20,000
OgXtele&s! I 20,000,000& * 14! 20,000
ZEE gitel BT At 765,000 1,309,200 AB44,200
308 RXIHMSOIH 765,000 1,309,200 AB44,200
07 MXIEH2t R = 765,000 1,309,200 AB44.200
OZ3E gitel et ZH
765,000,000 14 765,000
ZRELENX T ASIE2EZ NJAS 560,000 681,720 A121,720
= 280,000
Al 280,000
301 EtE2EZ 560,000 681,720 A121,720
T 280,000
Al 280,000
14 JIEt2 43 560,000 681,720 A121,720
OLRAEERNXNE AtgEE8z K&
560,000,000 14! 560,000
= 280,000
Al 280,000
MAE 12 UHSST ASIEEZ K& ALS 100,000 324,000 A224,000
= 50,000
Al 50,000
301 LEt2EZ 100,000 324,000 2224000
= 50,000
Al 50,000
14 JIEt2 43 100,000 324,000 A224,000
OMAY 120 NS AsIE2EE X~
100,000,000& * 14! 100,000
= 50,000
Al 50,000
A EEAY SSEHI 3,200 4,000 A800
202 04t 3,200 4,000 A800
01 2LHOLI 3,200 4,000 A800
OLXelEEAY =& 0]
20,0002 *4Z *403] 3,200




A= FHEE= 2N ¢ ZHE=
Hu: ng=z
chel: dXel #E XA (SH9 H2)
AT SN FE . B(BH) - HSAY - B ofl vy aET HD=2
d=-FA-85%-8 o 8= = ofl &b s2
AAELE X E Js3IIUE K& 50,000 50,000
308 AXIHHSOIA 50,000 50,000
13 2| 2SOIChEHZ A X RISt AL 50,000 50,000
OASHUNRE JIsHII0E X
50,000,000 & = 1A 50,000
AEYE HEE 2Tl AFE (B LXel AlS0E ANY) 81,640 81,640
= 37,320
& 11,196
Al 33,124
101 2124d| 74,640 74,640
= 37,320
= 11,196
Al 26,124
04 JItHNI22sEE 74,640 74,640
Ol LXtel AlS0HE Mol olAH|(=2d]) 37,320
oJlgg 100,000 & *2H 230 *50% 23,000
= 23,000
oFFLYH 100, 000 +2H *x463=+50% 4,600
= 4,600
SEGPNES=Y 100,000 2% * 11 *50% 1,100
= 1,100
oxEH
18, 750 & *2H 18 A| 2Ex10E *50% 3,375
= 3,375
cAHEE Al XIEES=
57,400, 000& * 15%*50% 4,305
= 4,305
SY0: N 20,000& x2H %473| x50% 940
= 940
OYl eXte| AIS0E Mol ol4y| 37,320
oJ|lEg 100, 000 & 2 x230 ! *50% 23,000
< 6,900
Al 16,100
oFFLY 100, 000& #2H *463=+50% 4,600
& 1,380
Al 3,220
SEGPYESI=Y 100, 0003 +2&H 11 «50% 1,100
= 330
Al 770
oxLH
18, 750 & »2H 18 A| 2Fx10E x50% 3,375
& 1,012
Al 2,363




=: dNeE= A - BHEEL

o™ LLS/=C
chel: dXel #E XA (SH9 H2)
AZ - 2A - FB . OI(SH) - NRAY - BES 0 & A HimE==T
CAHEE AMAXREE
57,400, 0002 * 15%+50% 4,305
< 1,292
Al 3,013
=0it| 20,0003 #2Z #472] x50k 940
S 282
Al 658
201 er23 | 7,000 0 7,000
01 At2telt] 7,000 0 7,000
Oyl 2xtel M=0HE ALY 2 (AIHIFEI)) 7,000
ol X2 AIEIHE Al 222 M
3,000,000 14! 3,000
oIl Fal2 galgl 3o+H
50,0002 x20H *43] 4,000
Sofl =8t B0+ L Atel A 390,826 0 390,826
< 78,165
Al 312,661
101 QI24H| 390,826 0 390,826
< 78,165
Al 312,661
M IRIMZZ2XNSE S 390,826 0 390,826
OSolf =8t HiCH LXte] At el2iH|
390,826,000 * 14! 390,826
< 78,165
Al 312,661
FEEH AY F=A 1,440,133 2,633,993 A 1,193,860
= 107,000
z 366,656
< 202,390
Al 764,087
ASAR, 3 IR MY 160,000 200,000 240,000
307 2I2t01 160,000 200,000 240,000
02 2B YAIAE £ 160,000 200,000 40,000
O TAE4A, Y I MY
160,000, 0002 *100% 160,000
FAEE UAHHMA 2= 48,000 52,500 24,500
201 LEH2 | 28,000 32,500 24,500
01 At22t2l] 8,000 22,500 214,500
OFEEMARS| FHE
70,0002 152 +43] 4,200
OFHHMARYS 88 950,000 *43 3,800
03 A2 I 20,000 10,000 10,000
OFH Sgdst us 20,000,000 *14] 20,000
207 AR 20,000 15,000 5,000




A= JHEE= A BHEEL
2 Ng2=
&Pl UM AY =4 EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
01 ¢ EGH| 20,000 15,000 5,000
OFEFR J|2HE 28 789
20,000,000& 14! 20,000
HEEM A 2F 3| 5,200 6,000 A800
202 04d| 5,200 6,000 A800
01 =04 bl 5,200 6,000 A800
OFEFE AIZ XX 0|
20,0003 x4 H+653] 5,200
NGy dEgdiiel At 527,951 739,928 221,977
s 268,723
= 69,219
Al 190,009
301 LEHBNEF 157,500 0 157,500
s 78,750
& 23,625
Al 55,125
14 JIEt2 43 157,500 0 157,500
OF2F2 HEURIZIAI (QIMEIB)
157,500,000 * 14 157,500
s 78,750
& 23,625
Al 55,125
307 gIzHol ™ 370,451 739,928 AN369,477
s 189,973
& 45,54
Al 134,884
02 QIRHEAAIHE X 370,451 739,928 AN369,477
OF2EF2 HUEdXe|Ard (el24d])
341,951,000& *100% 341,951
s 189,973
& 45,54
Al 106,384
OFEEZ HAYRI2| AL (AIHIFI})
28,500,000 x100% 28,500
&Y A SAMS 105,000 105,000 0
307 QI2H0| M 105,000 100,000 5,000
02 QIRHEAAIH B X 105,000 100,000 5,000
OFHENA 3|YI|SAS
105,000, 0002 *100% 105,000
JEdE SFZE FEEFYL A9 & 140,973 277,968 2136,99
s 76,595
& 30,170
Al 34,208
307 QI2H0| A 140,973 277,968 A136,995




I

- LS| C

ton

TN=2=X

123 2 AHEED

in

43,500

D EEEM A = EER=E)
2.2 B O (B) - NRAY - BES ol by e HDS2
rag 76,595
& 30,170
Al 34,208
02 QB AMAIEE L 140,973 277,968 136,995
OIAE EZLE HEFAL ALY &
140,973 ,000& *100% 140,973
rag 76,595
& 30,170
Al 34,208
LEA FE HHBHE UE K& 39,009 234,920 A 195,911
rag 21,338
& 7,401
Al 10,270
307 QI2t0I™ 39,009 234,920 A 195,911
g 21,338
= 7,401
10,270
2 QIZHEAMANEEX 39,009 234,920 195,911
OZEA HEEY Belie 48 |
39,009,000 *100% 39,009
21,338
7,401
10,270
H20Hs dX2IAE XIAIE (20 2 XId) 15,000 15,000 0
307 2I2t01™ 15,000 15,000
02 QB AMAIEE X 15,000 15,000
OH2HE LXelHE KA (20 2 E
X&) 15,000,000 *100% 15,000
HUESN StAl SEXE AL 214,000 343,100 A 129,100
= 107,000
& 32,100
Al 74,900
301 EtEXZ 214,000 343,100 A 129,100
= 107,000
& 32,100
Al 74,900
01 AIBIE&E2GI2(2DEXTE) 214,000 343,100 A 129,100
OFEHEAM StAl EEXIE AIH
214,000,000 *100% 214,000
= 107,000
& 32,100
74,900
CHet X2l EHAHE KA (20 2E XY) 145,000 145,000 0




A= ZHEE= A - BHEEL
D DREX
cHol: HUEXI ALY =X (2l ®R)
- 2N B GRAEH)  ARAY - BES ol &4 e HIDEY
Al 101,500
307 212+01& 145,000 145,000 0
S 43,500
Al 101,500
02 QA LAEE X 145,000 145,000 0
OS2I 2RI AMIE TIRAIY
145,000,000 *100% 145,000
< 43,500
Al 101,500
&Y 2l oiztdiol 2 40,000 0 40,000
= 20,000
Al 20,000
201 223 40,000 0 40,000
S 20,000
Al 20,000
03 A2 40,000 0 40,000
04 2/t oBthlol 2
40,000,000 14 40,000
< 20,000
Al 20,000
CARE 2243t 342,044 342,298 2254
== 43,572
Al 298,472
ZRASENXE “ARIE s SHMSUHE 5,400 9,000 A3,600
S 2,700
Al 2,700
307 212+01™ 5,400 9,000 23,600
S 2,700
Al 2,700
04 QIZFHAIAIE B = 5,400 9,000 A3,600
OZJASEUXE “A2E sHotSHM=EUHE
5,400,000 *100% 5,400
= 2,700
Al 2,700
CSYHEAY KA 81,744 79,878 1,866
= 40,872
Al 40,872
307 212+01™ 81,744 79,878 1,866
S 40,872
Al 40,872
02 QIRHHAANGE R 81,744 79,878 1,866
O-sgEdY & 81,744,000& +100% 81,744
< 40,872




A= JHEE= A ZHESH
M g
Selr DAIRIE gEEds (SH9 H2)
A= 24 - 3 SR(3) - NIRAY - BES Off &4 OEEEH HusZ
| Al 40,872
TZ2A 23 AL X2 29,000 41,000 12,000
307 212+01& 29,000 41,000 12,000
02 QIRIHAANGE R 20,000 30,000 210,000
ORHEI2EX & “AEY RIX A
20,000,000 *100% 20,000
04 QIZISHAIAIH B 9,000 11,000 22,000
OZ2 =22 & A2
5,000,000 *100% 5,000
OHAIDIE MEta X
4,000,0002 *100% 4,000
CARIEEE AIRR 23 118,000 114,000 4,000
307 212t01& 118,000 114,000 4,000
02 QIIHAANSEE R 30,000 30,000 0
O AIIEE S| S45tAIY
30,000,000& *100% 30,000
03 QIHHNEHE2SHI2x 88,000 84,000 4,000
O ABIEE S AIR= 23|
83,000, 0002 *100% 83,000
SZ2ASE=EA2 2l 104,000 84,500 19,500
201 =3 6,000 6,000 0
02 S3=2g4l 6,000 6,000 0
OQtHEICt =2 2,400,000 14 2,400
OAAIE HE =8 ¥ B
3,000,000 14! 3,000
OnssYRgs 600,000 14! 600
307 212+01™ 68,000 48,500 19,500
03 IRIHEAXNHE2EHIE XL 68,000 0 68,000
o=2zisgsi 28 X
68,000,000 *100% 68,000
401 AlIEHIZL 2 0HY| 30,000 10,000 20,000
01 Al&HI 30,000 10,000 20,000
OL12 FAES 30,000,000 14! 30,000
CAEE =8 22| 3,900 4,500 AB600
202 OH| 3,900 4,500 2600
01 2L A 3,900 4,500 A600
O AtE™ =2 o
20,0003 »3&H #652 3,900
e=elZ22x X 180,000 150,000 30,000
=22 NHXNEMH 29 180,000 150,000 30,000
307 212t01& 180,000 150,000 30,000
05 eIzt = 180,000 150,000 30,000
Og=0I=22 X NAHEH A2S
180,000,000 14! 180,000




. 02 (B) - NIBAY - BaS A
FHEED) 33,820 33,720
33,820 33,720
33,820 33,720
2B IH| 21,420 19,920
A2 22| H| 21,420 19,920
B2 | 14,220
CHHAILRE 7|
495,002 %128 5,940
SAIRII| ADE 2|
3,000,000& * 14 3,000
MERASE 20,0003 x7E5x 12 1,680
JlEt=&HI 300,000 = 12& 3,600
sl 7,200
=i=qsl 8,000 x15H x5 x 122 7,200
202 044 3,200 3,200
01 =2LHM Y| 3,200 3,200
=248 oyl
50,0002 x4H =163 3,200
203 SR F=&IH| 9,200 10,600
01 J|2A2HHR=EIH| 5,600 7,000
OJIA2HHRFX 5,600,000& 14! 5,600
M EAN2IHRFAH| 3,600 3,600
ORAN2ILRFE 300,000& 12 3,600




H & 0o & A E Al A
A= JHEE= 2A 1 AaEe
M XNA9ZHM A8t 2=
St MM 243t (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
2a8Z0ln 16,748,710 16,395,813 352,897
= 17,010
s 475,000
& 1,275,795
Al 14,980,905
NAEH &gt 2= 16,728,070 16,375,773 352,297
= 17,010
s 475,000
= 1,275,795
Al 14,960,265
MeIZH 43t 9,124,745 8,418,063 706,682
= 17,010
T 69,177
Al 9,038,558
2430 NH & =344 25 102,760 117,660 214,900
201 2Et2 & 9,000 11,000 22,000
01 ArR22eltl 9,000 11,000 22,000
Oaa3z0l &0 EE2 M
9,000,000 14! 9,000
202 (4t 2,160 2,160
01 =04 bl 2,160 2,160
Oa430 HM =& (|
20,0002 x3H+33|* 128 2,160
203 LR =&H| 1,600 2,000 2400
03 Al Z=AIHSZXY| 1,600 2,000 2400
OAMARFA 1,600,000 * 14 1,600
307 QI2H0| A 90,000 102,500 212,500
02 QIRHHAAIHEE X 40,000 74,000 A34,000
Oa430l 2210 OHAE AtY I
40,000, 000& *100% 40,000
03 QI HE2HHIE X 25,000 0 25,000
Oayzs0lIctl 29 X&
25,000,000 *100% 25,000
04 CIZISHALAIRIE & 25,000 28,500 23,500
O==24d 435t dA XA
20,000, 0002 *100% 20,000
OaatBelole AKX
5,000, 0002 *100% 5,000
LEAEYEE 2 2 2 8,402,000 7,912,500 489,500
201 L2 | 301,000 511,500 A210,500
01 ArR2eltl 296,000 490,000 A194,000
OLENELZH 2EUHS =2
250,000,000 14! 250,000




A= B
Ha: KRR 83D

Se eE M (el mg)
AT A ZB - O(E) - MSAY - BaS ol &t Zes HDE2
OZEMTAED = AN
2,00021%3, 0000} 6,000
OBSAHEN 202 A
10,000, 00024 +14! 10,000
OmZiT IIE FI= 10,0002+3,0007H 30,000
2 2z29| 5,000 21,500 216,500
OUSALYEN EPE SHYEE3
5,000, 0002414 5,000
202 it 1,000 1,000
01 =00 1,000 7,00
OLSARAEA JIBE B2 ol
10,0002 +22§ %531+ 102 1,000
301 YBEES 8,100,000 7,400,000 700,000
14 OIErE NS 8,100,000 7 400,000 700,000
OUSALEN gouEa
100,000,000, 000! #65% 8,000,000
OUSMAER IIUE ZHA4E X
100,000, 0002414} 100,000
e Larzol Xe 160,000 160,000
307 212101 & 160,000 160,000
B OIXIEE 160,000 160,000
O8. HUSH2TIS AAT0 HLHUTS
01 XTI 150,000, 00024 +14] 150,000
HEOIHY A 245 A 190,900 16,000 24,900
== 57,270
A 123,620
301 A=A 190,900 16,000 24,900
& 57,270
A 128,620
14 OIS 190,900 166,000 24,900
O=EIIYA BH5 1S
190,300,00021%141 190,900
< 57,270
A 123,620
HEDIEY L BAs N (2UN) 58,100 12,743 15,367
= 17,010
< 1,907
A 29,183
EEERE 58, 100 12,743 15,357
= 7,010
< 11,007
A 29,183
4 OIErR NS 58,100 12,743 15,357
O=eOleiA 2203 1
58,100, 00024 +14] 58,100




D ZHEE= A BT~ Jelin |

D NGEH 430

S HOIRH s (1o 2421)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
8% FM- 358 N &5 = of o s
= 17,010
= 11,907
Al 29,183
TS AZRE AT 2435 A 113,000 0 113,000
308 AEXIHM SOl & 113,000 113,000
13 SI|2ASHICHEHE A E L EFALH] 113,000 113,000
OF2dZ A3 Z&EXF 843 MY
113,000,000 14 113,000
2EXS dHaeld F=& 107,985 81,160 26,825
101 el t| 28,545 0 28,545
M I1RINZ2Z2XRSE+ 28,545 0 28,545
OSILEAL - FHEOHE A 2teloldd 14| 28,545
=Jll2g 88,800& 1 +230 20,424
oxFaY 88,800 x 1«46 4,085
olXtg 88,800& 111! ar7
CAHEE AIEERES
25,485,600 *12% 3,059
201 L2 | 9,520 10,520 A1,000
01 At 22|l 9,520 10,520 21,000
Os2ItHd 222 A
4,000,000& » 14! 4,000
OXHIXE A O2AS| EHItH
70,0003 *12H+33] 2,520
OFBHAY A HAIH X SO E X &
NIESS 2,000,000 14 2,000
OFESOIIAL A LED2HE R X22lY]
1,000,000 14 1,000
202 0idl 2,880 3,600 AT20
01 =WO4bI 2,880 3,600 AT20
Oaa30el X =& ol
20,0002 x3B 43|« 122 2,880
301 LEHBEF 7,040 7,040
11 SHAIAHIXIAZ 800 800
O=2J1etE M #IHA =4
8,000& x50 »23| 800
14 JIEt2 43 6,240 6,240 0
O2J 2LIHEE gs|
40,0003 +3H +523] 6,240
307 212+01™ 60,000 60,000
05 QIZtRIEr S 60,000 60,000
OaHItagdlH 2E2dE
60,000,000& * 14! 60,000
201 aaEe A XA 3,824,672 4,083,500 A258,828
= 37,648
Al 3,787,024




A2 AN EH2 2N 2430
[ NAAH LTIIP 2=
Bl 1Y AyEel 38 XE (SH9 H2)
Ax - BA - 3 - SAAEA) - HRAY - BES Ol &FH %Eﬁ HIRE2
JAYMIZ 02N 3,002,376 3,000,000 2,376
201 Lere | 2,376 0 2,376
01 ArRzelt| 2,376 0 2,376
OSXZRIAAY pIgR(14)
2,376,002 * 14 2,376
307 2I2+0| & 3,000,000 3,000,000
08 0IXH2 &2 3,000,000 3,000,000
OJIYBAFBIZ OIXEN (B S8I12
) 3,000,000,000! *14! 3,000,000
A430 AHEHG A 747,000 1,010,000 263,000
201 Ler2 | 5,000 10,000 A5,000
01 AlR22lb 5,000 10,000 A5,000
OLATO K& A ot 222 HIZ
5,000,0008 % 14! 5,000
301 LEHEHS 300,000 500,000 £200,000
14 JIEI2 A3 300,000 500,000 200,000
OGN A430 NRMHIA £42 X2
300,000,002 * 14! 300,000
402 QI2ERH20IH 442,000 500,000 /58,000
01 QIS AISEE(XRITHR) 442,000 500,000 £58,000
OZM 24T HASAH IE AL
300,000,000 %14} 300,000
Ottg XJ|=22 SZEol oA QHE
2 X 142,000,000 *14] 142,000
CRIRATH AR FH2A2 XY 75,29 73,500 1,7%
= 37.648
Al 37.648
307 2I2t0IA 75,29 73,500 1,7%
=3 37.648
Al 37,648
02 QIIA LA AT T 75,29 73,500 1,7%
OLRRABH ARIIY 23 X
75,296, 0002 *100% 75,29
=5 37.648
Al 37.648
HEANT ZuA 25t 2,977,434 2,933,124 44,310
= 1,058,136
Al 1,919,298
HEANZ 245t X 70,710 33,960 36.750
201 LerH2 | 48,710 15,960 32,750
01 AR Zelt| 48,710 11,960 36,750
OHEANE 222 M
10,000,000 *14! 10,000
OFSAT 22 30,000,000 *14! 30,000




; ZHEZE=
D XN HEIE S

;F?_—i: HSAE BHH Let EER=E)
AR .2 . HEH. CI-_‘,’_|(§D1|) - HIEAIY - HH2 0 AFoH SEE Hn=2
STrTATSRtE T == B Ofl &k o se

ONEAME ANLElis A48 Y
250,000 *33| *5IH & 3,750
ONENE =XE QI8 &E 9
3,000,000 14 3,000
ORSTAMLMHE G =Y
70,0003 *7 H*43] 1,960
301 LetEAEZ 6,000 2,000 4,000
11 HALAHIXIE 3 6,000 2,000 4,000
ONES AT &t&tsl #IHA 0]
200,000 x 15 *23] 6,000
307 gI2Hol ™ 16,000 16,000
02 QItBAAIHE X 16,000 16,000
ONSAE ZIUHXA
2,000, 0002 *8IH 2*100% 16,000
HSAE ALESUHE X3 (HEAIY) 1,355,063 391,470 963,593
= 812,978
Al 542,085
401 AIEHIZL 28I 1,355,063 391,470 963,593
= 812,978
Al 542,085
01 Al&Hl 1,333,063 391,470 941,593
OSLANE ENS=HUIEEE WA
818,000,000 14 818,000
= 490,800
Al 327,200
OdYAE “FZHAIE WA
33,400,000 * 14! 33,400
= 20,000
Al 13,400
ONEANE SZ3tEA 4X 2 8 28
== 85,000,000& * 14! 85,000
& 51,000
Al 34,000
OF2ASEAIE CCTV &X
9,900,000 14 9,900
= 5,940
Al 3,960
OF2HAUHSAIE HHHI] &X
95,000,000 14 95,000
& 57,000
Al 38,000
OF2AHBZSAIE 5O 2 23|
AX| 291,763,000& x 14! 291,763
= 175,038
Al 116,725
02 Zeldl 22,000 0 22,000




FENEEE
D XSAR HFIIE S
L HESAF WA A

AZ - 2A - FB . OI(SH) - NRAY - BES 0 & A HIRE2
OBYAE SIALHHEE DH 22
22,000, 000%4+14! 22,000
= 13,200
Al 8,800
HEAF SAWZEE A 22,08 23,700 A1,672
= 11,014
Al 11,014
307 Q12H0IH 22,028 23,700 A1,672
= 11,014
Al 11,014
(2 SRIA M HE 22,08 23,700 ~1,672
OFSAIE e It
13,680, 0002 +60% 8,208
= 4,104
Al 4,104
ONSAY SHHEE SHALS X2 (STt
) 23,083, 00021 %60% 13,820
< 6,910
Al 6,910
S 52T B 2Y 20,000 20,000 0
201 Q2| 20,000 16,000 4,000
03 A2 20,000 16,000 4,000
OSH 52% #A 20,000,00024%14] 20,000
=27 52% 285 29 40,000 0 40,000
307 SI2H0IH 40,000 40,000
02 QRIFMAI S E 40,000 40,000
OF2YE M5 29
40,000, 00021 % 100% 40,000
25112l OIAIE 29 200,000 600,000 400,000
201 Y2y 80,000 30,000 50,000
01 AL 22| 50,000 30,000 20,000
O"aHel OHIE CHEIBI NIE 89
50,000, 00024+ 14! 50,000
03 #AL2 | 30,000 0 30,000
OZsIHel OHAIE BAI 2
30,000,000/ +14] 30,000
307 SI2H0IH 100,000 160,000 260,000
(2 SIIAMALRZE 100,000 0 100,000
O"sel OHE 29
00,000, 00021 % 100% 100,000
401 AIEBI L 2OHE] 20,000 410,000 390,000
01 A& 20,000 410,000 390,000
OBl ORAIE JIBHAIA 24
20,000, 0004+14! 20,000




; ZHEZE=
D XN HEIE S

;F?_—i: HSAE ¥ L3t (Gt H2)
AT SN FE . B(BH) - HSAY - B ofl vy aET HD=2
43248339 = 4= . ofl &b S

NMEAIE SHSIAY S2HAY| 4,800 6,000 A 1,200
202 04| 4,800 6,000 A 1,200
01 2L Y| 4,800 6,000 A1,200
OAE 43 AIE2l AIHFEOYI
20,000& x3H *x803| 4,800
HEAIE AIEZ2 22| X 107,839 92,880 14,959
201 LEH2AH| 57,839 42,880 14,959
01 AtR2t2lbl 5,000 5,000 0
O3FA 29 A2F 7Y
5,000,000 & * 1A 5,000
02 B22ZH| 52,839 37,880 14,959
(OrSPI= 600,000& 128 7,200
(@F e Eay= 39,000,000 & * 1A 39,000
ONEE SN2 U 2AE £42
6,639,000 x14! 6,639
401 AlEH|IZL L2 C0HY] 50,000 50,000
01 Al&HI 50,000 50,000
ONEAIE HNFAAL B
50,000,000& 1A 50,000
HEAIE XIZ0| X3AIS 780,480 697,752 82,728
& 234,144
Al 546,336
307 S1ZH0| & 780,480 697,752 82,728
= 234,144
Al 546,336
02 OIZHEAAIR B X 780,480 697,752 82,728
OFSAIE XZ0| N3AAS
780,480, 000& *100% 780,480
= 234,144
Al 546,336
SAHSESAILY SRS AIE SHAIL (2R E ] 220,000 0 220,000
21)
308 AXIHHSOIA 220,000 220,000
13 S| 2SS EAEREAIS DI 220,000 220,000
OS2} ZLSAE SHEAL(2IIREX)
220,000,000 14! 220,000
HEAIZ DHEOIALE HES2A 156,514 142,362 14,152
101 2121b| 120,594 110,042 10,552
04 JItHNI2Z2sES 120,594 110,042 10,552
OSYFXE, BE3HEA 2HolA o] 120,5%4
ollEza 95,200 *3Y »230 65,688
oFsYH 95,2003 x3H 46 13,138
o AZ2t22 R4
17,850 x3H *2A| 252 x463= 24,633




; ZHEZE=
D XN HEIE S

;F?_—i: HSAE BHH Let EER=E)
A 2A - ZB . S(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
SRLPNES=] 95,2002 3+ 1 3,142
ol =H| 200,000 x32+23] 1,200
cAUBE AGF=RYZR
106,601,000 *12% 12,793
201 LEeH2 | 25,920 22,320 3,600
01 At22t2ltl 16,320 16,320 0
OA2F 7¢ 400,000 128 4,800
OFXEMEH FAES(24H) 24
660,000 « 122 7,920
Osgd)| RAZ= 300,000& * 122 3,600
2 S22l 9,600 6,000 3,600
OFxtd 29 HAMds1=
800,000 * 122 9,600
401 AlEBIL LY 10,000 10,000
01 AlZHI 10,000 10,000
OaTRZANEERANES
10,000,000& » 14 10,000
ARl HBH 243 =8 801,219 941,086 A 139,867
z 475,000
< 110,834
Al 215,385
ARIEBMIIY SR 117,885 151,086 133,201
101 @124H| 28,545 55,546 A27,001
M IRIMZZ2NSE S 28,545 55,546 27,001
OAI HZMXIAEE HMeeled A 28,545
SP== 88,8003 » 1 %230 20,424
oFFsd 88,8003 1 46! 4,085
SRLPNES=] 88,8002 x 1 » 11 977
cAUEE MP=RYE
25,485,600 *12% 3,059
201 fer=3| 12,540 14,540 2,000
01 At22t2l] 12,540 14,540 22,000
OA2IHE M= g3 3oF3aE
70,0002 11 +23] 1,540
OAIHZ MDY etetal Fot
3,000,000 *14! 3,000
OAIHZNDIY E2NE M
8,000,000& 14! 8,000
202 04l 4,800 6,000 21,200
01 =LH0i 4,800 6,000 21,200
OA2IHZ M 28 0]
20,0002 3 »803] 4,800
307 2Ito1d 12,000 15,000 23,000
04 QIZFHALAISE = 12,000 15,000 23,000




A= JHEE= 2A 1 AaEe
M XNA9ZHM A8t 2=
SRl ARIEEM 243 = (St &)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
OAt=|H BN H0tE A
12,000, 0002 *100% 12,000
308 AXIHMSOIH 60,000 60,000
13 BII2SOICHEH B A XL EALIH] 60,000 60,000
OAIRIEZHIIE E2MATS & HIENE
X2 50,000,000 14 50,000
OASIZZ I LIEKA(MOILE, ZHS)
10,000,000& %14 10,000
MIED Y LXtelEE N 633,334 740,000 A 106,666
s 475,000
T 110,834
Al 47,500
307 QI2HO| M 633,334 740,000 A 106,666
s 475,000
= 110,834
Al 47,500
02 QIRHEAAIEE R 633,334 740,000 A 106,666
OAMIIZED Y LRelEE KR
633,334, 0002 *100% 633,334
s 475,000
= 110,834
Al 47,500
M EHZH Se2s X2 50,000 50,000 0
308 RXIHMSOIH 50,000 50,000
13 I 2SO E &R 2E AL 50,000 50,000
OAMIIEAM S N
50,000, 000& *100% 50,000
Y 2HAH(AHAZ0I) 20,640 20,040 600
=&l 20,640 20,040 600
J123&H| 20,640 20,040 600
201 23| 15,240 14,640 600
01 ArR2eltl 15,240 14,640 600
OgBt=2H| 9,000
cHTIARESE LI
500,000& 123 6,000
oNMALRE FAHI 250,000 123 3,000
O=gt| 8,000 x 13«5« 12& 6,240
202 04d 2,400 2,400
01 2LHOILI 2,400 2,400
OJ|12g2=+¢ ol
50,0002 *4E x123] 2,400
203 =& 3,000 3,000
M FA2ILRFAL 3,000 3,000
ORM2IHRFA 250,000 123 3,000
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H & 0l & AHS B Ml A

M IR

i =AJY AAXA

‘;9;2 %.’.\_JIS QQM% EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e

IS K2 1t 27,882,723 9,448,974 18,433,749

= 12,257,020
CH 700,000
& 4,426,889
Al 10,498,814
saJIY JERE 384,818 291,158 93,660
T 22,229
Al 362,589
SaJ|Y 3FXA 384,818 291,158 93,660
& 22,229
Al 362,589
SaJ|Y BZ2RA 68,000 70,000 22,000
201 L2 | 8,000 10,000 22,000
01 Ar2eltl 8,000 10,000 A2,000
OS2I IAXAtH EE22 HEH
2,500,000 14 2,500
OuZXEAY 228 =% A
1,000,000 * 14! 1,000
OuZ XA 2 257
2,500,000 14! 2,500
OJIGX& A gs 83
2,000,000 14 2,000
308 AXIHMISO0I& 60,000 60,000
13 S| 2SS E AR PEA I 60,000 60,000
OelHUAZS(Z2E=S)29 XY
60,000,000& * 14! 60,000
EA)Y EE E2 OBHE XFAS(SXEXA) 48,000 68,000 220,000
308 AHXIHMSOIH 48,000 68,000 220,000
13 I 2 SOIHEHE & A2 AL I 48,000 68,000 220,000
O=AI1E 58 EE OHAHE RFAS
48,000,000& 14! 48,000
ZREE XA HBE NZAMS 44,458 44,458 0
= 22,229
Al 22,229
307 2Iz2+0l™ 44,458 44,458 0
T 22,229
Al 22,229
02 QIRHEAAIHE B X 44,458 44,458 0
OXAMe HBE XI2AMS
44,458,000 x100% 44,458
& 22,229
Al 22,229
sS40 2HMS CIAONE XIRAHS 48,000 60,000 A 12,000
307 gI2tol ™ 48,000 0 48,000




2= ZHEE= A IR
M ZIAIY JEXE
ol SAJ1Y S (SH9 H2)
AZ - 2A - FB . OI(SH) - NRAY - BES 0 & A HimE==T
02 2IHBHAIHE £ 48,000 0 48,000
O=2==NS G X
10,000, 0002 *8IH A +60% 48,000
2R SHESI(HAIE]) O XA 30,000 40,000 10,000
307 2I2to1 ™ 30,000 40,000 210,000
04 DIZFHATAIZ B & 30,000 40,000 10,000
O=Uel =tgal(BAIZ]) I X2
2,000, 0002 *15JH A+ 100% 30,000
SAIY =234 L3 NN 100,000 100,000
308 XXM SOIA 100,000 100,000
18 SISOt EAS A 100,000 100,000
OsMY 2384 23 2
100,000,000 14 100,000
JISRFAY 223 6,360 8,700 22,340
202 Ot 5,000 7,000 ~2,000
01 =LH0d 5,000 7,000 A2,000
OJIGE ALY =8044|
50,0002 x4 »252 5,000
203 HR=H] 1,360 1,700 N340
03 A=A =] 1,360 1,700 2340
OJIEXIE AHHR =&
1,360,000 *14] 1,360
IPOIEE GHRIZIE XIR AL (2HEERIY) 40,000 40,000
308 AHXIEMSOIE 40,000 40,000
18 SIS0t HAS A 40,000 40,000
OlIPJIgt HeldlE KIJAAY
40,000,000& *14] 40,000
INR:FAigeePE=s 14,674,726 2,983,576 11,691,150
= 7,057,020
CH 700,000
< 2,114,660
Al 4,803,046
=X 9,869,860 72,360 9,797,500
z 7,057,020
< 1,387,740
Al 1,425,100
IgsXEs 32,360 64,360 A32,000
201 Ler=23 | 32,360 54,360 ~22,000
01 At2teltl 32,360 54,360 22,000
Oggt===H| 19,000
oFXIIY FEAH =2 0|
3,000,000 %14 3,000
SJIAUKX 2ES HA
4,000,000& *2& 8,000
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D ZHEE=
ISP
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oS

A JIEXE

P JIEFA EERE)
AR 2N - B S2(3H) - NRAY - BES ofl vy A ClImE=T]
oJIYRK E2SE 7Y
2,500,000 %23 5,000
onstAr EXT Hy|
3,000,000 14! 3,000
o294y 3,360
SIIYRXIAAS| 504
70,0002 %1284 #45] 3,360
OJRi EPES 10,000
outets| &It 5,000,000 %23 10,000
AR 2SS 5,000 8,000 ~3,000
202 O1H| 5,000 8,000 ~3,000
01 2Uioib| 5,000 8,000 £3,000
OJIYRXES X0
50,0002 x2% %50 5,000
NSEXI S NLERESNEEZ X2 9,832,500 0 9,832,500
z 7,057,020
= 1,387,740
Al 1,387,740
402 QI2HRH=OI & 9,832,500 0 9,832,500
z 7,057,020
< 1,387,740
Al 1,387,740
02 QIIKHZ A B (01H THE!) 9,832,500 0 9,832,500
OXNYEIIY NLENSAEEZ XA
9,832,500, 0002 *100% 9,832,500
z 7,057,020
< 1,387,740
Al 1,387,740
ALY SHAY 1,056,300 1,308,000 ~251,700
LEUSAATE SN 1,050,000 1,300,000 250,000
306 2012 1,050,000 1,300,000 £250,000
NEEE, 1,050,000 1,300,000 250,000
OZSUsIATEY 29| X2
900,000,0002! %14} 900,000
OYSVSAYRSR ALE4H N
150,000,00084* 14} 150,000
HSAASH 2HH 6,300 8,000 A1,700
201 LB 1,500 2,000 500
01 At2el 1,500 2,000 500
OFSENE= 1,500,00021*14! 1,500
202 01| 4,800 6,000 A1,200
01 2U0iH| 4,800 6,000 A1,200
OXeAr oAl
50,0002 +3% *32 4,800




A= ZHEE= A IR
M NP S
ol NESshtg =54 EER=E)
Al = £ o|(5 = dET =
A2 2A - B 9(3) - HIRAY - BES Ol & S DS
ANEEsatd =4 3,157,066 990,000 2,167,066
tH 700,000
< 726,920
Al 1,730,146
HYME Kol HAT HAXSH H2AY X (= 20,000 20,000 0
IEEXA)
307 2Ito1d 20,000 20,000
02 2IZHBHAIHE £ 20,000 20,000
Ol AME Fef AL HAXZH A7
A R (ZEFU)
20,000, 0002 *17H 2+ 100% 20,000
AKXl FEDIY U8 oZet UIDIE HFPAY XH(= 20,000 20,000 0
DIESFSONECY
307 2I2t01 ™ 20,000 20,000
02 QIZHBAMAHEE 20,000 20,000
O&HIl Fela ts et s A+
A X2 (ZER=)
20,000, 0002 *17H 2+ 100% 20,000
oM - 25 -l JIgsd & I N (SN 40,000 250,000 210,000
&)
308 XtXIEMSO0IE 40,000 250,000 ~210,000
18 SIS0t 4 A AS A 40,000 250,000 ~210,000
OxM - 23 - gl JIgd=sd £ Jl=Xg X
el 40,000,000 *14] 40,000
28 AHIRY XHdE SHS 75 700,000 200,000 500,000
H 700,000
308 XXM SO0l 480,000 200,000 280,000
H 480,000
13 SI[2SOHe & EAS A 480,000 200,000 280,000
OZE ALY XBEE 2HE 2=(JY)
480,000,000 x 14 480,000
H 480,000
403 XIS XH=01H 220,000 0 220,000
cH 220,000
02 SIS0t =2 2 P E A I 220,000 0 220,000
OYE AHIKY XSHLEE 2HE 7=(X2)
220,000,000 #14] 220,000
H 220,000
DAMNKEIZ AT AEE S REAL(2HEFE R 2,377,066 0 2,377,066
&)
< 726,920
Al 1,650, 146
308 RIXIEME0IH 127,066 127,066
13 SI[2SOHE & EAS A 127,066 127,066
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403 XIS HMSAHE0IA 2,250,000 0 2,250,000
= 726,920
Al 1,523,080
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F2IIsM (TS 587,500 613,216 AD5,716
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308 AXISHMSOIN 40,000 60,000 A20,000
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OZEXNY WSEHEH S XA (LSEHA
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403 XtXISHMSKHE0IA 20,000 20,000
02 I/ 2SOCHet A2 & 2 EAIZ I 20,000 20,000
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308 AXISHMSOIA 60,000 60,000
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WEAMARSH) 60,000,000 14! 60,000
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308 AHXIHMSOIH 236,000 236,000
13 I 2 S0IeHE & A S AL 236,000 236,000
OXI 12! OICIUHIE A (E 4
236,000,000 14 236,000
403 X SHHMS K201 A 100,000 100,000
02 SIS0 et A=2E AE AL I 100,000 100,000
OX 12! DICIHHIEH RS AL (XH2)
100,000,000 14 100,000
HIOIHAHOIA 25 - 2IAI (M) X (3IHEE 100,000 100,000 0
XI)
307 2I2+01A 100,000 100,000
02 QIRHE&AAIHE B X 100,000 100,000
OUIOIHAHOIA RE2IAM(H2E) (2
2= 100,000,000 *1JH 2 *100% 100,000
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200,000& »202] 4,000
OUEHSA dAF & HADIE 29
3,000,000& *14] 3,000
202 04l 3,000 4,500 21,500
01 =LHA LI 3,000 4,500 1,500
OsASEAY =80
20,0003 x3& »503] 3,000
206 MH=H| 15,000 19,500 4,500
01 M=4l 15,000 19,500 24,500
OB BQ ¥ =X P
2,000,000 *14] 2,000
O&l € &l 228 oM 7
2,000,000& *14] 2,000
OBHEE BRI W2 2
2,000,000 %14 2,000
Otz & g8l 72 2,500,000 *14] 2,500




A= JHEE= 24 23
M s d=2H
29l BesE (Bt &)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
QMBS Ald22el M2+
3,500,000 14 3,500
QHMEEX ME2E M=+
3,000,000 14 3,000
301 LB NZ 22,200 21,600 600
11 HALAHIXIEZ 22,200 21,600 600
OMEHZLIHE Y 2Z24
88,8003 »10H 252 22,200
401 AIEHIZL 28I 70,000 140,000 270,000
01 Al&Hl 70,000 140,000 A70,000
OIZIANASK eZEI
20,000,000& *23| 40,000
OZEIIAASA W AAXRIOHE S AL
30,000,000& %14 30,000
MEj22X A X .4 90,000 90,000 0
= 45,000
& 13,500
Al 31,500
307 gI2tol 90,000 90,000 0
= 45,000
& 13,500
Al 31,500
02 QIHB AT E R 90,000 90,000 0
Ode2ZXs XNE. 54
90,000,000 *100% 90,000
= 45,000
& 13,500
Al 31,500
TESAl 4zl 89,461 114,431 A24,970
101 @I24H| 25,781 25,191 590
M IIRIZ2Z2XSE+ 25,781 25,191 530
O=ZSK HE=ZY 1Y 25,781
oJllEgs 104,800& 10K 20 20,960
oxsaY 104,800 x10E x4 4,192
cEMIHEE RBEZ
25,152,000 *2. 5% 629
201 2| 33,680 29,240 4,440
01 ArR22ltl 9,560 10,120 A560
O=xZskl 222 M
1,500,000& 25 3,000
O=ZsX 8l ZHISxt
1,000,000 & *43| 4,000
Ox&IAMN =2 80,000 *4 3| *8IH £ 2,560
02 23244l 24,120 19,120 5,000




A= JHEE= 24 23
M s d=2H
29l BesE (Bt &)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
O=X&X CCvaldz
120,0002 * 123 *30H & 4,320
O=Z&X AN&s2 X2l
15,000,000 14| 15,000
O=XZs&X &Iz 400,000+ 128 4,800
401 AIEHIZL 28I 30,000 60,000 230,000
01 Al&HI 30,000 60,000 230,000
O=Z5A F=HEE FHIALE
30,000,000 14! 30,000
FEMEEE Q20E HEZZ B (ZAZHEZAI) 150,000 100,000 50,000
s 75,000
& 37,500
Al 37,500
307 QI2Hol A 150,000 100,000 50,000
s 75,000
T 37,500
Al 37,500
02 QIR AAIHE B X 150,000 100,000 50,000
OZZLMEstE Q20E MEZz (2
HBZA) 150,000, 0002 *100% 150,000
= 75,000
& 37,500
Al 37,500
HEdE 2el.29 1,160,434 1,284,562 A124,128
MEHE Alg2tel 976,934 1,053,182 AT76,248
101 eI t| 7,807 11,415 23,608
M IIZtH22 S e 7,807 11,415 3,608
Od==D| Haze| oI 7,807
=Jll2a 95,200 x2H 40 7,616
cIZE MUNEE= 7,616,000 2. 5% 191
201 2E2 ] 895,127 928,767 233,640
01 AtR222ltl 664,727 62,627 602, 100
Os2I| HIIBAM =2
300,000 *13] 300
OFA22E & AME83E 7Y
850,000& 123 10,200
OMEdH A2 212 =4l
2,500,000 23] 5,000
OAld2el 258 72 2,000,000 *12] 2,000
OMRES 7Y 330,000 123 3,960
OFL2R =4l 8,000 & x5 x 704 2,800
Q&I 2| el 824
1,340,000& =128 16,080
Ofol&d 29 1,000,000& 123 12,000




A= AYSA 2A A
A QB Ed
o MEHMEH 22 2% EERCED
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
STrTATSRtE T == B Ofl &k o se
ool & Z=J] 2tel 553,900& 123 6,647
@ERIE=L=T] 605,740
o5 RAES 22189
400,000 122 4,800
ogtstae| 29 350,000& =123 4,200
oFHAHL EY 192,000,000 14 192,000
cAldzte 89 373,000,000 *14 373,000
oMt % SAHH RAA2 2
1,200,000 =123 14,400
oz MA AZH| 450,000 & +63! 2,700
otSHO AIAE |XI22l]
8,640,000 14 8,640
oMAlM T2 ) FX &2/
6,000,000 * 14! 6,000
02 23244l 230,400 866, 140 AB35,740
03322 % HMAl 178,800
oiotE 23 900,000& 123 10,800
ocXMIIR3 13,000,000 x 12 156,000
QY MZ3d & MIIAER
700,000& =123 8,400
SUS(SEZAEEAAENAEE
300,000& 123 3,600
OM== FaAH| 800,000 & *23| 1,600
OJIH & EINE RRNES
5,000,000& 103! 50,000
206 M=4| 14,000 23,000 A9,000
01 M=l 14,000 23,000 A9,000
OoxZae| 4 2 1,000,000 52| 5,000
Oalg & Xt 71 1,800,000 52| 9,000
401 A& B 20HLI 60,000 90,000 A30,000
01 Al&Hl 60,000 90,000 230,000
OMEHy a2 &l 30,000,000& * 14! 30,000
OJIH & ®IINE 22
30,000,000 14 30,000
Mg & 2AE 29 183,500 201,380 A 17,880
201 B2 AL| 157,500 163,000 A5,500
01 ArR222ltl 42,500 48,000 25,500
OAXa ARF NE 15,000,000 & * 14! 15,000
OXA ADF FU(LDINR, IXUHNE S)
300,000 * 181 & 5,400
OEZME NE 125,000 * 122 1,500
O=sMTAMELHH 228 M
5,000,000& » 14! 5,000
ONMEdH =X & daits ¢
150,000& *103] 1,500




2 A= SN A
Hu: oA BH
ool MEME 22 29 (o) @)
AZ - 2A - FB . OI(SH) - NRAY - BES 0 & Ce HIRE2
Off &bod
OMBNE 2% #49 M
100, 00024 %5 7 #3381 1,500
OZHA HIZE 7Y 5,000,0002/%14] 5,000
OS2t ZRAAE 248
200,000, 00024 +3% 6,000
OSMTAHBME SN2 NG| &4
= 00, 000218 +23| 1,600
03 #AL2 | 115,000 115,000 0
oggr2g| 95,000
oHEZZIY 29
250, 00024 +87H 355 70,000
cngZ2 Y 29
250, 00024 574205 25,000
O A 20,000
ONl43 LSHADS HIAEE
20,000,000 #14] 20,000
202 it 3,000 3,780 A780
NETEE] 3,000 3,780 AT780
OMBHME 2u5t =8 0|
20,00021%32§+503] 3,000
206 2| 5,000 10,000 £5,000
01 THE 5,000 0,000 75,000
O=MEA DS ¥ ME W2
50,0002 1024+ 103! 5,000
301 YerEEI 8,000 9,600 21,600
11 SAAHIXI RS 8,000 9,600 1,600
ORS L A 24|
8, 0002150 241103 8,000
405 THAHE S| 10,000 15,000 5,000
01 RHIUSEH S| 10,000 15,000 5,000
OMBME 28 2 2| 2Y 10,000
ofi4+S 2T PY
5,000, 00024141 5,000
oHE ASEH 7
5,000, 00024+ 14! 5,000
SHEHEH 2,114,567 2,106,489 9,078
= 11,631
Al 2,102,936
EENEESIY 2,054,082 2,014,714 39,338
= 6,660
Al 2,047,392
NEESEONPIES] 400,243 37,646 42,597
101 21218 223,363 208,366 19,997
VBIEEES=T=E 223,363 203,366 19,997
OJEXTBEIA HA2IIRY 223,363




o= ZHEE= A 23
3 I A
Rl SHEAEIN (SH9 H2)
A = X ol (& [=] E-Ill‘jE =
R RA B OFI(SIH) - IRAY - BES ofl & e HDS2
=JllEg=g 95,2002 6% x230 131,376
oFsag 95,2003 x6 462! 26,276
oA Xt 95,2002 +x6E 11 6,264
oAlZtel=g
17,850 *BAI 26 +63 53,979
CcNEMNEE 2223
217,912,800& *2. 5% 5,448
201 er2 3| 176,880 154,280 22,600
01 AtR2t2ll 83,120 87,120 24,000
OZZX7 St 225 2 HOEE 7Y
270,000& #43| x 141 2 15,120
OZxEX7 BS54 st&X 7
40,0002 #5002t A 20,000
OZS=ad =2l HREE g2
1,500, 0002 x40 6,000
Oss=ad 2= M
1,000& 2, 0000H 2,000
Ogatad Hoss 7
20,000,000 * 14! 20,000
O0ISAl=td4 Xtz
5,000,000 *4= 20,000
2 3522l 93,760 67,160 26,600
OZEX7 253 IR
225,000« 1404 A~ x 122 37,800
OZEX7 B2 ===
225,000 * 140 A+ 128 37,800
OZEAF SSHEA 2
232%12,0002| E4* 100 2 2,760
O3EI7 sTodd AnZs-d7AHl
1,100,000 * 1400 &~ 15,400
SsEAIIsEY 400,000 500,000 100,000
401 Al&BIL STy 300,000 350,000 50,000
01 AlEZHI 300,000 350,000 50,000
OSS3ad ANd=E=
200,000,000 » 14 200,000
Od¢l7 & wHEHEA RUHAIE 4X
100,000,000 *14] 100,000
405 THeHE S| 100,000 150,000 50,000
01 TR ESFSHI 100,000 150,000 £A50,000
O3Sy (018A!) 7Y
100,000,000 14 100,000
SEsEAHAH2N(S -8 - S) 1,057,049 923,037 134,012
101 QI24H| 632,319 559,307 73,012
M IRMZZ2HS e 632,319 559,307 73,012
O0IsAlstEa dadel URY 93,677
=JllEa 95,2003 8 x 120 91,392
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2AM - BEu

(ehol:®el)
4224 - HE - B9I(EH) - AIRAY - B of v e HIDE2
2 222 11,620 11,620 0
OBESIA 2u4HE
233 +10,0002| E4* 1400 A 3,220
OdfistEa AREH7 X
600, 0003 * 1404 A 8,400
SSeEid & 22l A3A 22,200 30,000 AT7,800
< 6,660
Al 15,540
401 AlEHIZL SO 22,200 30,000 AT7,800
= 6,660
Al 15,540
01 Al&H| 22,200 30,000 AT7,800
O==2Ad HES
7,400,000 *39H 2= 22,200
= 6,660
Al 16,540
SHEARPHEAIY 23| 6,000 11,300 /5,300
202 04| 6,000 11,300 A5,300
01 =LHOLI 6,000 11,300 25,300
OStEAReIHE =& 0]
20,0002 x5& »602] 6,000
= 53,176 83,436 230,260
= 3,900
Al 49,276
Q- HSH3L 2 31,676 48,056 16,380
201 er=23y| 30,176 26,556 3,620
01 AtR2t2|HI 16,976 13,35 3,620
O&slx HALUNE QUM
80,0003 x222 A 1,760
O&stx MMEZH R B+
343,000 122 4,116
ORUls +8ZHA =8
70,0002 304 2,100
Odatx & Kot & X iz
750,000 x1CH~ 128 9,000
2 S52g4l 13,200 13,200 0
OF3Ix HACZ 2TLSE
600,000& 122 7,200
Oxtgr= Al 6,000,000 *14] 6,000
206 MH=H| 1,500 1,500
01 M=4l 1,500 1,500
OMelgt=XelAld ASe 2
1,500,000 *14] 1,500
FEEE AL 13,700 24,700 211,000
206 MH=H| 13,700 24,700 211,000




A= ZHEE= A B0
3 FAEF2EH
=Rl =EEEA (St &)
AT 2A BB O9(E) - MRAY - BAS ol & e HDS2
01 =4l 13,700 24,700 211,000
O+TAAE e 22
2,000 *1,000H 2,000
O+228 gHN=3 +
100,000 25 +500H 10,000
O==E=HZHl A 7
10,0002 *50H 500
OE22g AAME Az HHE 2
6,000 «200H 1,200
JHRISt=HelAlE ?IE2el 7,800 10,680 A2,880
S 3,900
Al 3,900
307 212+01& 7,800 10,680 2,880
= 3,900
Al 3,900
02 QIIHAANSEE R 7,800 10,680 A2,880
OJfelst=xMelAld ?IE2e|l XIJAY
13,032,000 59.85% 7,800
= 3,900
Al 3,900
Alot=2te] 7,339 7,339 0
S 1,071
Al 6,268
Klot=QtE A ate| 6,000 6,000
201 =3 6,000 6,000
01 AFS2t2ltl 6,000 6,000
OXIot H==EI|, M2
3,000,000& 14 3,000
OXlot=2tc| 2 2 M
3,0002+1,000% 3,000
Kot =HBA == X3 AIH 1,339 1,339 0
S 1,071
Al 268
307 212+01& 1,339 1,339 0
S 1,071
Al 268
02 QIHHAANGE R 1,339 1,339 0
OXIot =Z2AAM =2 X3 At
2,677,000 *50% 1,339
= 1,071
Al 268
ostza=2d 18,852,311 24,760,133 Nb,907,822
= 10,464,650
= 72,000
J| 96,273




2 FNEF= S 8D
(|2

Chel: Ho18-goHe (SH9 H2)
Al = % ol (& = dMEE =
R RA B OFI(SIH) - IRAY - BES ofl & e HDS2
[ 2,240,018
5,979,370
tolet8ie 18,540,891 24,295,813 Nb5,754,922
= 10,464,650
z 72,000
2l 9,273
[ 2,240,018
Al 5,667,950
SN RS2 48,890 57,900 29,010
201 er23| 48,890 57,900 29,010
01 At2t2ltl 23,690 14,700 8,990
O A ZAIAE KX 2
2,247,500 43 8,990
OstBZNERY S XA I
2,500,000 *43] 10,000
OZNEREZ JHAHE B8 =2
100,000+ 122 1,200
OEZMERLES JHELER =5
100& *70, 00024 %50% 3,500
2 332gHl 25,200 43,200 18,000
OZNERE=3 DXAN g8 RES
4502 +14,0000 *42] 25,200
Uoleg 2el 91,280 83,000 3,280
101 QI24H| 9,520 9,280 240
M IRIMZZ2US e 9,520 9,280 240
OSE2HTAl 212
95,2002 1100 9,520
201 fer23| 81,760 78,720 3,040
01 AtR2t2l] 67,040 62,000 5,040
Oggt==H| 67,040
o SAF/I RIIHIXE XIFAY I &HE
U =2 15,3002 *2,000CH 30,600
oEILE=FI| ETHM =2
500,000 *8H 4,000
cRBENY E2= M
5002 *10,0000H 5,000
oUIItHE A QAT =2
400,000 *207H 2~ 8,000
oEHENAR IHHUX =2
1,200,000 *1CH* 122 14,400
oINS SH & FIHY LA
Mel AHsSAAE 22| =2
420,000 128 5,040
2 35224l 14,720 16,720 22,000




o= ZHEE=
I [H)|BAEA

2AM - BEu

;F?_—i: EHJISJDZ;H;' EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Ao A timE=FT
Oz2tBNSI 88 & =719 fe2A
Mel HSAAE OXA =2 & RER
2,600 100~ 122 3,120
O332= % HAl 2,000
0INEX S3R= 2,000,000 14! 2,000
OAIZEHIF I 9,600
cEZP=HI| HHIFAIHI
2,000,000 *1CH 2,000
oA8 & NSA S2A8EXE JH|
2,000,000 14! 2,000
=0IMBIX Al FXI2eld]
2,000,000 %14 2,000
oEIEN XX RFH
300,000 +1CH+ 122 3,600
SRS FAY S SEUH 6,000 6,000
307 2I2t01 6,000 6,000
05 2IZIAEZ 6,000 6,000
OstZdEe AP
75,0008 *80% 6,000
HIINSI BESME(SE) 3,749,600 4,644,000 A8HA,400
= 2,180,000
< 436,000
Al 1,133,600
402 RIZEAHZ01H 3,749,600 4,635,400 835,800
= 2,180,000
< 436,000
Al 1,133,600
02 QIENZASEEZ (01 THR) 3,749,600 4,635,400 885,800
OMIINSAHSE) 7L XA (ZNH)
6,880,000 *545CH 3,749,600
= 2,180,000
< 436,000
Al 1,133,600
HIISI ESAM(32) 7,848,000 8,379,000 531,000
= 4,950,000
< 828,000
Al 2,070,000
402 QIZERH201H 7,848,000 8,316,000 468,000
= 4,950,000
< 828,000
Al 2,070,000
02 QI X2 AL E (01X THE) 7,848,000 8,316,000 468,000
OISR (EH2) 7Y XH (FH)
17,440,000 *450CH 7,848,000
= 4,950,000




=: dNeE= A 23

Hu: OD|BE

=aak EHJI%DZ;HE (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
& 828,000
Al 2,070,000
MIIXESX ES2AIH (S8 1,638,000 882,000 756,000
= 910,000
T 218,400
Al 509,600
402 QI2EXH=01 N 1,638,000 882,000 756,000
= 910,000
= 218,400
Al 509,600
02 QIR AL 2 (01 & THE) 1,638,000 882,000 756,000
OFMIINSIHSE) 7L K3 (HH)
126,000,000 = 13CH 1,638,000
= 910,000
= 218,400
Al 509,600
HII0IEX ESAS 160,000 168,000 28,000
= 80,000
& 24,000
Al 56,000
402 QI2EHE01 & 160,000 168,000 28,000
= 80,000
& 24,000
Al 56,000
02 QIZEXHE AL B X (01 & THE) 160,000 168,000 28,000
O&EII0IEX ESAIS (HH)
1,600, 000& *100CH 160,000
= 80,000
& 24,000
Al 56,000
2| HIXH 3,813,210 6,165,200 A2,351,990
= 1,906,605
& 571,981
Al 1,334,624
402 QI2ERHE0I & 3,813,210 6,165,200 22,351,990
= 1,906,605
& 571,981
Al 1,334,624
02 QIR AL B X (01 & THEA) 3,813,210 6,165,200 A2,351,990
0552 &R A ZIIHIX XA (HH
1,600,000 *991CH 1,585,600
= 792,800
& 237,840
Al 554,960




D ZHEE=
SN PEC a2 bt

2AM - BEu

Rl oo (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e

Q452 =SZ R ZOIHR N (ZY)
3,700,0002 *595CH 2,201,500
= 1,100,750
T 330,225
Al 770,525
OA&II ZIIHA KIS (Fo)
3,730,000 *7CH 26,110
= 13,055
& 3,916
Al 9,139
2 M3oif =X 156,900 141,900 15,000
= 78,450
T 23,535
Al 54,915
402 QI2ERH=0I1 N 156,900 141,900 15,000
= 78,450
= 23,535
Al 54,915
02 QIZEXHE AL 2 (01 & THE) 156,900 141,900 15,000
OMAMZEXI &X 3,300,000 *43CH 141,900
= 70,950
= 21,285
Al 49,665
O1ESEX MS3H HE(HNH)
15,000,000 *1CH 15,000
= 7,500
& 2,250
Al 5,250
A4I|H M3 £X 208,500 280,500 A72,000
= 125,100
& 25,020
Al 58,380
402 CIZERH=0I M 208,500 280,500 A72,000
= 125,100
& 25,020
Al 58,380
02 QIZEXHE A B X (01 &THE) 208,500 280,500 272,000
OAEIAH AT DA 16,500,000& +9CH 148,500
= 89,100
& 17,820
Al 41,580
OZ XA Ms3H2l&0l2)
30,000,000& *1CH 30,000
= 18,000




o= ZHEE= R ==
M (olsaeA
Chel: Ho18-goHe (SH9 H2)
AR RA BB B(S) - MBAY - B Ofl by A HmS2
[ 3,600
Al 8,400
OZFXAX HSSHISULE)
30,000,000 *1CH 30,000
= 18,000
[ 3,600
Al 8,400
Oelo| S&XtE PG ME 15,000 119,000 104,000
= 7,500
< 2,250
Al 5,250
402 QIZEXH20IH 15,000 119,000 104,000
= 7,500
= 2,250
Al 5,250
02 QI TH2AILEE(OIHTHE) 15,000 119,000 104,000
OO012I0] SErRt LPGAIEH(FH)
5,000,000 *3H 15,000
= 7,500
S 2,250
Al 5,250
BBt 2 EX 45K At 1,090 1,950 2860
2 545
< 163
Al 382
402 RI”FXH=201H 1,090 1,950 2860
= 545
< 163
Al 382
02 BIENZASEZ(0IETHR) 1,090 1,950 2860
OE3J12t ZUEX dsFAl2e
57,368+ 19CH 1,090
= 545
< 163
Al 382
IHEE MsABLY &X NEAY 12,000 50,000 38,000
= 7,200
< 1,440
Al 3,360
402 RIZERHZ01H 12,000 50,000 38,000
= 7,200
< 1,440
Al 3,360
02 QIEN 2 AL EZ(0IETHR) 12,000 50,000 38,000
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A (OIS BEH
Chel: Ho18-goHe (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
OIEE N=Az2f B3 ()
600,0002 20 12,000
= 7,200
T 1,440
Al 3,360
OIMIHX SEE G2 AR (Z4) 144,000 160,000 216,000
= 72,000
& 21,600
Al 50,400
101 eI24t| 121,000 120,000 1,000
s 60,500
& 18,150
Al 42,350
M II2tH22SE* 121,000 120,000 1,000
O0ZZAl eI 121,000
S 110,000,000 * 14 110,000
s 55,000
= 16,500
Al 38,500
cUEMNEE 2EHZ
11,000,000 * 14! 11,000
= 5,500
& 1,650
Al 3,850
201 2E2 & 23,000 40,000 217,000
= 11,500
= 3,450
Al 8,050
01 ArR22ltl 18,000 30,000 212,000
OO ZAl XH URta4E
750,000 x2CH* 123 18,000
s 9,000
= 2,700
Al 6,300
02 2324l 5,000 10,000 25,000
O0ZZAl Xt 2=
3,000,000 14 3,000
= 1,500
& 450
Al 1,050
O&dl |RXZ= 1,000,000 14! 1,000
= 500
& 150
Al 350




A= JHEE= 24 23
A (OIS BEH
Rl oo (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
O=RE ae3a 1,000,000 14 1,000
= 500
= 150
Al 350
S22 AEE SUXIAE ZX X3 302,400 450,000 A147,600
= 168,000
= 40,320
Al A,080
402 BI2HR=0l M 302,400 450,000 A147,600
= 168,000
& 40,320
Al A,080
02 QIZEXHE AL E (01 MTHE ) 302,400 450,000 A147,600
O27E AT SRIAIE X R2AS
10,500, 0002 *327H 2= +90% 302,400
= 168,000
& 40,320
Al 94,080
FHAHE OISAE AUHBIIE SEML 14,000 20,000 26,000
& 4,200
Al 9,800
201 2E2 2 14,000 20,000 26,000
& 4,200
Al 9,800
01 ArR22teltl 14,000 20,000 26,000
OFALHS OIZAE 2UBIIE ESEZ3XA
== ,000& 287K 2~ 14,000
& 4,200
Al 9,800
SEEH 22| 7,000 15,000 A8,000
202 04d| 7,000 15,000 28,000
01 2LHO LI 7,000 15,000 28,000
OB EMF=E0HI 20,0003 x5H+702] 7,000
SAHIIEES 2EXRA 108,000 72,000 36,000
& 32,400
Al 75,600
201 L2 | 108,000 72,000 36,000
& 32,400
Al 75,600
01 At 2telt] 45,000 30,000 15,000
O&Hl Sotd Bt & AEZA =8
15,000,000 *37H A 45,000
= 13,500




D ZHEE=
SN PEC a2 bt

2AM - BEu

‘3%;2 CHo18tE e (SH9 H2)
Al .2 - HE . CI-_?.|(§D:") c NIEAIY - HA S Of| AFOH ST Hnz=2
SHrTATSRE T == - Ofl &k o se

Al 31,500
02 23244l 63,000 42,000 21,000
ORANE=LH A2
21,000,000 *30H 2~ 63,000
= 18,900
Al 44,100
SAHIIEZHA 2YXRA(XHA) 12,800 16,000 3,200
201 L2 | 12,800 16,000 A3,200
01 ArR2eltl 8,000 10,000 A2,000
OEZAHIIEEA EHl 4225 7L
800,000 53] *x2CH 8,000
02 23244l 4,800 6,000 A1,200
OZAUWIIEZL 2223
200,000& x20H A+ 12 4,800
AHIIH M= ¢ 106,971 50,613 56,358
| 96,273
= 3,209
Al 7,489
301 LBENF 106,971 50,613 56,358
| 96,273
= 3,209
Al 7,489
01 A 2&AH 2 (FREETR) 106,971 50,613 56,358
OANMIloH 18X QUYMEY
7,247 5802128 86,971
| 78,273
= 2,609
Al 6,089
O4AHIo I E LS H
400,000& x5H x 102 20,000
| 18,000
= 600
Al 1,400
NASEI(GP) HEIIA M2 EX 23 X 47,250 3,150 44,100
= 26,250
Al 21,000
402 QI2ERH=0I1 N 47,250 3,150 44,100
= 26,250
Al 21,000
02 QIZEXHE AL B X (01 & THEA) 47,250 3,150 44,100
OJAZEHEHID IE0tA MEEX 22 K&
3,500, 0002 * 157 2 x90% 47,250
= 26,250
Al 21,000




o= ZHEE= R ==
M (olsaeA
Chel: Ho18-goHe (SH9 H2)
Al = % ol (& = dMEE =
R RA B OFI(SIH) - IRAY - BES ofl & e HDS2
C2X 2YNE SHEAAE 12X 50,000 0 50,000
= 25,000
& 7,500
Al 17,500
402 RIR”EXH=201H 50,000 0 50,000
= 25,000
< 7,500
Al 17,500
02 RIINEASEZ(0IETHR) 50,000 0 50,000
OL=xt 2dHst SSEAAY 25
50,000, 000& »14] 50,000
= 25,000
< 7,500
Al 17,500
A8 I 4 311,420 464,320 A 152,900
ZAS IGHEA 2P| 211,420 264,320 252,900
201 Ler2 | 205,420 254,320 248,900
01 At22t2ltl 70,780 69,280 1,500
OZASE2EHY 2= MH 12,100
oEZE I N
70,0002 %301+ 1000 A 2,100
os2E2 M 250 *40,0000H 10,000
OzZASEd= AFEAMA eIy
B0 *35+50, 0000 9,000
OzZASEe= 2ESAIAM UM
4002 +50,000E 12 20,000
OXNSFASUHMARIRS] HA =G
100,000 x5 +53] 2,500
O ML MatEdl & 25 X 21,180
oE4Z ME - I+ AMRA 2H(1-32)
110,000 x5CH*5I1 A+33 8,250
ocHAS MEMRA 2E(4122)
110,000 +7CH* 1) 2 +02 6,930
osAIEHl 2 6,000,000 *14] 6,000
OSTARA 22| 23 78
6,000,000& *14] 6,000
2 s5=34l 134,640 185,040 50,400
OZAsS2d= 2SN &5 RER
1,8002+48,0002*1.52 129,600
OZETAMRA MAHEHl X2t
420,000+ 128 5,040
202 Ot 6,000 10,000 24,000
01 =LHoi 6,000 10,000 24,000
OZaSUHH =20
20,0003 x5 »603] 6,000




2AM - BEu

ENS o (et &)
CRA B GR(B) - NIRAE - BaR A HIDEZ
AYFHOIS K2AS 100,000 200,000 100,000
401 AIZHIZ SO 100,000 200,000 100,000

01 Al&HI 100,000 200,000 100,000
OIS = =H0LS
100,000,000 14 100,000
Y 2HAH| (22 1) 30,400 33,958 A3,558
=34 30,400 33,958 A3,558
Jl=2&3H] 30,400 33,958 A3,558
201 Zet2d] 18,400 19,558 A1,158
01 AlR2telHl 18,400 19,558 A1,188
Oggt=3=H| 11,200
cdHHARESSHI 4,000,000 14| 4,000
ol HAH|4=Clhl 200,000 x4 543 3,200
=J|Et=EH| 4,000,000 * 14 4,000
o=l 7,200
oJ|l2gRsd A
8,0003x 15«5« 123 7,200
202 048l 7,200 9,600 2,400
01 =LHOHI 7,200 9,600 A2,400
OJ|l2ge+a0 100,000 82| +x9& 7,200
203 gF=4| 4,800 4,800
M EA2HELRF 4,800 4,800
ORN2gER= 400,000 123 4,800




H & 0l & AHS B Ml A

ZHE= A ¢ =gt
st MBS XA
SEXHQ =8t 2< (SH9 H2)
2. 24 - BB O9(30) - HRAY - BAS ol b e HlmS2
=2t 48,550,109 69,109,691 A20,559,582
= 292,500
= 233,460
& 404,342
Al 47,619,807
WEE MEEH XY 34,899,384 52,651,998 A17,752,614
= 292,500
= 233,460
& 386,442
Al 33,986,982
SEXHQ ANz=edH 29 3,604,536 8,165,663 AN4,561,127
= 255,000
= 178,500
Al 3,171,036
ESYNESINEE | 534,571 754,026 A219,455
101 eI H| 23,991 23,386 605
M IItHZ22SEs 23,991 23,386 605
ONRBUE T8 23T 2
95,2002 *7H 3L *73] 13,99%
ONREBHIE = ZH4 AT ol
5,200 7B *32 53| 9,9%
201 B2 AY| 463,080 186,840 276,240
01 ArR22ltl 77,080 76,840 240
Oo=2g=< 29,100
oYX 60,000& x 120 7,200
o= 60,0002 365 21,900
OgEt=ZH| 47,700
oHAIRAI 2L ABERY
220,000& 205 4,400
SEIIQT MUY ELZ
1,200,000& = 12& 14,400
o™I|dH|l HIIZA =2
800,000 * 14! 800
CAYOITAN 242
700,000 * 14! 700
oXlote QAT AT
200,0002 *403! 8,000
CEUAQAG A 442
800,000 *43|*3JH 2~ 9,600
cEES 2E8E TA =5
250,000& 283 7,000
SHIE Bk 4+ 42
200,000 *2I 2~ *13] 400
oAty HHAIAH AIZE
100,000« 12& 1,200




NEER =N

Ar2 &2t it

‘3%;: Eéﬁ‘&oe}%f%ﬂa =23 EER=E)
4224 B G9(SH) - AIRAY - BES of v e HIDE2
oHAXHE ] UHAAY AIEZ
100,000& * 12 1,200
O W= 280
o&gt2e |t W=F 160,0002 1 160
oS WF
120,000+ 1 120
2 5234l 386,000 110,000 276,000
O332= € HAl 360,600
oltd =gt &JIRs
25,000,000 «12& 300,000
o=l &ot=E23
5,000,000& ~12& 60,000
oAotM HalH 100,000 14| 100
oHASMEE = 500,000 14 500
OgzH| 3,000
oFAHE R=H 500,000 62 3,000
OAlE &I Xl 22,400
oFHA FAE 5,000,000& *14] 5,000
A2 MNSAAE(BE) |NE+
1,500,0002 432 6,000
SHIEAEOH, HII) RS
1,000,000 #42] 4,000
oHES XS NE RRE=>
1,000,000 *43] 4,000
ocHES M+&Hl A2+
500,000 22 1,000
o2 |RAES 1,000,000 #22] 2,000
o W=D| =2l 200,000 =2CH 400
206 M=l 10,500 19,000 28,500
01 MZH| 10,500 19,000 8,500
OHEE AS0tE g
8,0002!*1,000S 8,000
OdEd 2HHM F& 50,0002 *50S 2,500
401 Al HIZL S 0HYI 30,000 524,800 A404,800
01 Al&HI 30,000 520,000 A490,000
OdIH FEXS 228l 89
15,000,000& » 14 15,000
O &eHlE L SH38Hl 89
15,000,000 * 14 15,000
405 AtatE=H 7,000 7,000
01 Tt =S F=HI 7,000 7,000
OXt =gl =87 7Y
7,000,000 1K 7,000
AE ==X X2 16,200 13,900 1,300
201 er23 | 5,600 5,900 A300




A= JHEE= A A=
M AE MEeEd Iy
ol e =8y 22 (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
01 AFS2t2ltl 5,000 5,000 0
O1l=Hl 5,000
oXP MNAS(4 - of) 7Y
180,000 15H 2,700
oXA AT 1Y 90,000 *15H 1,350
oXE 9| F¢ 20,0003 «15H 300
o8 2N T 7Y
2003 * 13250 650
03 @At2ZH] 600 900 A300
Ogtdzeld ZEse 22 ME
150,000 4% 600
301 LEt2NHF 9,600 8,000 1,600
11 EAAHIXIRA S 9,600 8,000 1,600
Otz 2e|d ZstHs At
60,0002 160 9,600
A =gHdlE AldE 22l 2,204,765 3,187,737 A982,972
101 @124H| 1,064,147 1,060,426 3,721
M4 IRHHZ2Z2XESES 1,064,147 1,060,426 3,721
ONEES 888 2FY 985,320
=JllZ2g 95,2002 *30E 60 *53] 856,800
oFFH 95,2003 »30H x40 114,240
SRS ES=, 95,2003 *30H +5 14,280
ONEEZ =8 2FY 78,827
=JllE2g 95,2003 x6H 602 <23 68,544
oxsY 95,2002 6~ 16! 9,140
S LLPNE =, 95,2003 x6 & x2 1,143
201 2Et2 & 231,200 214,400 16,800
01 AFR2t2ltl 36,400 42,400 26,000
Oget===H| 36,400
cHEZRS 2BE =8
600,000& *62] 3,600
olgss H2E 2E=2F 7L
12,000,000& %14 12,000
oMEzMEE 22 2X0H, F2 2L
75,0002 +40H 43| 12,000
oEsSHEY 22X 0tAT FY
5,000 x40 243 4,800
oXtEE Y FUE &HI| 2
2,000,000 «2CH 4,000
02 2324l 194,800 172,000 22,800
Os82=2 & HA 35,200
olaEs UMY B8
550,000 «8CH 4,400
o2t UK B2
800,000& %12l 800




A= AR SA RS
Hu: R MBEA XA
&2l 880 =2y 23 EER=E)
A 2A -G9S - HRAY - BES ol & Cie HIRS2
esoatn ek i g . Ol &t =
oSEE-ESIIN tiERN3
15,000,000 & *23| 30,000
OAE &R Xl 36,000
oME=2s AMEE =8 ||
1,000,000& *63! 6,000
STBBE MY BT ALS +4 21|
=] 3,000,000 =14 3,000
oBAE HEE ANdZ2 RAE2HI
5,000,000 14! 5,000
oMEEs ASRII(M HEY )2
7,000,000 14 7,000
oNEE HBUE 46 S|
15,000,000 * 14! 15,000
OXtgh. dett| 123,600
olass XY & S|
687,500& 8L * 123 66,000
onEEES 2uNY 224
600,000 +8CH*12& 57,600
307 QI2Hol A 784,418 1,052,911 A208,493
05 EIR”IAE S 784,418 1,052,911 A268,493
OMEE &HEHDIS HMlthe
270,000 +465E 125,550
OHHBIZZE Mel Che
245,000& %2, 173& 532,385
OHHIZZEI 28 CHa
60,2302 2, 100& 126,483
401 AIEHIZ 2018 125,000 860,000 A735,000
01 AlEHI 125,000 860,000 A735,000
ONEE d8Z B3 At
30,000,000 14 30,000
O3al2 HaEZ A4 EAHSAM
20,000,000& %14 20,000
OHIH HMIINEE B3 M
20,000,000 14! 20,000
OCCTV & 2ZAIE=A ZHIS AL
10,000,000 14| 10,000
OAZH & NEZ HHISA
10,000,000 * 14! 10,000
OSEstd 25D Atz 2
25,000,000 & 14! 25,000
OgEE 22X SHAIE HHIZSA
10,000,000 14 10,000
M TR =MEH XA 850,000 4,210,000 23,360,000
= 255,000
= 178,500
Al 416,500
401 AIEHIZL R OHYI 850,000 4,210,000 3,360,000




o= ZHEE= A =&
3 G HEged £d
ol e =8y 22 (SH9 H2)
Al = £ o|(5 = dET =
A2 2A - B 9(3) - HIRAY - BES Ol & S DS
= 255,000
< 178,500
Al 416,500
02 2teld| 850,000 0 850,000
OMETHAS| =4I SXIAIY 2Zeldl
850,000,000 x14] 850,000
= 255,000
< 178,500
Al 416,500
A =grlle] =HAS X2 307,560 259,000 48,560
Ae=gtdliE =AY 22 305,000 255,000 50,000
301 LEEN S 305,000 255,000 50,000
11 BARHIXES 5,000 5,000 0
OXE=gule] =EXHFE SAAL At
5,000,000& 14 5,000
14 JIE2 43 300,000 250,000 50,000
OXEE=EHE =81 ZAIAIE
300,000,000 *14] 300,000
AHE=SHE XA 233 2,560 4,000 A1,440
202 04l 2,560 4,000 A1,440
01 =LH0i 2,560 4,000 21,440
OXEEeE =Y X F2 0|
20,0003 x4 #3235 2,560
HOISXelAlE €X & 22 8,786,300 23,237,680 214,451,380
OHe ¥ =SEJH| 22 191,000 217,000 126,000
201 er23| 191,000 217,000 126,000
01 At2teltl 12,400 22,400 10,000
ogxt= 10,000
oH&I|H S &l Siz
10,000,000 *14] 10,000
Oget=ZH| 2,400
oligld ZETHEE =TBL J3=
200,000 * 123 2,400
02 S3=gl 178,600 194,600 16,000
O332= % HAl 7,000
oA |IHEH 282
875,000 8CH 7,000
OAE EHIS X 10,000
oHEEEHl & A2 |RXN2=>
10,000,000 * 14 10,000
OXtgr et 161,600
oI HEH ==
14,000, 000 =8CH 112,000
oH&J|AHEHl +=clbl
6,200,000 8H 49,600




A= ZRBER SA RS
M N MBEY EN

Ciel EOISHRIAE 271 @ B2 (ol m2)
M. RA B O9I(S) - ALY - BAS ol &t e HIDS2
NEZZHEE AR 30,000 30,000
201 AZHI2=0H) 30,000 30,000
01 AlEH] 20,000 30,000
ONEBZEE HYE Sx2E
30,000, 00024141 30,000
MR=EE HEE SxEe 2,009,050 1,155,478 853,572
201 Ler=S] 719,080 770,638 51,588
o1 A2l 19,000 20,638 1,638
OHDISUAIE BI|AAF 242
11,000,000214 14 11,000
OYsraBY| 8,000
CHHEAlE 292E 1Y
8,000, 0002141 8,000
2 22| 700,050 750,000 749,950
OHDISHESL( A2, HEH)
15,00021+46, 670 700,050
206 20| 47,000 114,000 67,000
BE] 47,000 114,000 67,000
sa2T 20H 20,000, 00024 +14] 20,000
Oljz Al eigz Dol
30,00021+2007H 6,000
OB & X weiorm 1)
35,0002 6005 21,000
201 AZHIL 20| 1,243,000 243,000 1,000,000
01 AlEH] 1,240,000 240,000 1,000,000
OUEAE SN+ 2 #2FY|
200,000, 00021 A 200,000
ORI BoISE2 K2t
50,000, 000214} 50,000
OB+ HaAE U 2BV KP4
80,000, 00021141 80,000
OTE2SdE HYUT2 DUESH NS
At 800,000, 00021 A 800,000
OLEA BAHIISHRAE TAHSAI
2 o AAEIF B9 9 NEFR
80,000, 0002414/ 80,000
ORI =SHE L EX2AH]
30,000, 00021141 30,000
08 Al THH| 3,000 3,000 0
OB AIE SXB4 2]
3,000, 00024141 3,000
EDISHeIANEAS 2520] 3,040 3,600 A560
202 01t 3,040 3,600 A560
01 2U0id] 3,040 3,600 7560
OBDISHRIAIS ME! ST 01|
20,0002 %424 383 3,040




L AHEA=
DR MEHY XA

= o

e

D HIISXCIAIE EX 2 2

A A=

T RA - BB O9(E0) - HRAY - BAS of v e HIDE2
8 HDISHRIAE EXNY 2SS 2,100 2,700 2600
202 04l 2,100 2,700 2600
01 =LHNbI 2,100 2,700 A600
OHJISXCIAE XA SRS
0,000 *3& *352| 2,100
A =gtdE A2AIE |12 6,551,110 521,686 6,029,424
201 Let2 ] 6,000 0 6,000
® 2=2H| 6,000 0 6,000
OAZAIL BRHARH2
6,000,000& *1& 6,000
207 ARl 5,000 24,000 219,000
01 H1E4H] 5,000 24,000 19,000
OHDIZ A2AE 2H 2IlY 2AE 8
S 5,000,000& *12] 5,000
307 gl2to| & 6,028,000 213,000 5,815,000
05 212t =S 6,028,000 213,000 5,815,000
OHIIZ aZAIE S22
5,632,000,000& 1= 5,632,000
OAZIAIE 2aHHA 282
360,000,000 *1 360,000
OX24TH 28R+ S8R
800, 0002 x2CH* 122 19,200
Ol 2t *RF|
700,000 <2CH* 122 16,800
401 A2 HIRL 201 512,110 284,686 227,424
01 Al&H| 512,110 244,686 267,424
OHIISHeIAE (A2AAE) XM ALZ
SIS A 392,110,000& %12 392,110
OHPISHMeIAE (A2AIE) FHIEX S
B LSS LTAL 20,000,000& *12] 20,000
O4ZAle A2l
50,000, 000& »23] 100,000
MDISEH 2de L 16,590,536 16,775,480 815,056
MEMY DX IS 13,918,818 12,756,835 1,161,983
201 er23 | 1,000 1,000 0
01 At2teltl 1,000 1,000 0
O=2g+¢ 1,000
odEHIIE +=&828 WX IR
3 =g 100,000 5& »23] 1,000
307 @I2t01 & 13,917,818 12,755,835 1,161,983
05 git?(&=s 13,917,818 12,755,835 1,161,983
OdHDlIE =828
13,407,817,400& x14] 13,407,818
OUgmll= =828
510,000,000 » 14 510,000




A= PR

Ha: st MBEY X

A A=

Chol: MPDISZH a5 L HE (crel el
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
STrTATSRtE T == B Ofl &k o se

MYDIEEH SF M 888,611 1,048,320 A159,709
206 M= 4l 888,611 1,048,320 A159,709
01 M=l 888,611 1,048,320 A159,709
OsAls M nAS5F M 105,010
o22|H 243 1,000,0000H 24,000
=32/ 262 *1,100,00004 28,600
SLE= 32:&+700,00004 22,400
<102l & 39&+240,00004 9,360
=202|H 59& %350, 0000H 20,650
OogetE SN A28EF ME 376,621
=52 32:&+10,0000H 320
=102/& 39&+500, 00004 19,500
=202|H 59:& %800, 0000H 47,200
o502lH 128&+1,000,0000H 128,000
o752H 1692 *1,074,5600H 181,601
OlgE &M nASSF M 13,000
SLE= 32:&+100,00004 3,200
=102l & 39& %100, 0000H 3,900
=202l 59& %100, 0000H 5,900
OMAIE RASE M 220,200
=102/& 422%600,0000H 25,200
=202|H 602 *3,250,0000H 195,000
OZ3E nA3S& A 93,200
SSRGS 1282 *200,0000H 25,600
o752 H 1692 *400, 0000H 67,600
O3 HEEsE 82 S5 X 31,340
o502 128& %60, 0000H 7,680
o752l 169& %140, 0000H 23,660
OMYDISHM=E NEE S8 HZE
330,000& *14E+20H 2~ 9,240
OMYDIBSHHEE ZEE AEIH ME
5%%8,000,0000K 40,000
Mg 9 GXHDIZ Mel 243t 1,519,957 1,661,175 A 141,218
101 el H| 399,317 454,210 A54,893
M I1RIMZ2Z2XsE+ 399,317 454,210 A54,893
OH2I12H 4 RY 33,320
oJllEgs 95,200 *20F 10 19,040
oHZH 17,8503 *4 Al 2+x20F 10 14,280
OHH2I12 MEEA 1T Y 42,840
=JllE2a 11,9003 *4 Al 280+ 10 38,080
o0t 5, 9502 * 1AI2H+80& x 10 4,760
OZEolH Fazel oY
95,2003 *10H %100 95,200




AR AHEA= SN R
Hu: NS MY TN
SOl MBS Bas L FE (crol: m2)
Al = ol (& = E-“I—jE =
A= 24 - 3. SRA(3AH) - MIRAY - BES Off &K Ol Abou HnsZ
OZ2W S Fo Hazel ol
95,2002+ 102 %702 66,640
OsZ2IY Al HA002 ol
95, 2002147252202 146,608
OgmBRB2IY UH BA0IZ ol 14,709
o=z 95, 20021462 <222 12,567
coiRAg 17,8502 46 #4 A 214521 2,142
201 LBr2AY| 301,640 313,800 A12,160
01 AlR22lt] 209,850 212,750 A2,900
OguragH| 153,850
OHAAM 2B B0 M
250, 00021 %204 44831 4,000
SSYMAD| AIDZAIT DUER B2A
EIY M= 4,000,00021 14} 4,000
oMI| HHE QLY EXIT M
70,0002 %4007 28,000
SHEEDIZ QEUADES £ 2tug
Xl 2 10024 130,0000H 13,000
SHEEDIZ QEUADES 52 £ 7
o 13,5002 x3000H 4,050
oZTBES ATH AEIH HE
5021 #450, 0005 22,500
oMYISHLN EHS HE
2002420, 0000H+3] 12,000
CHAXY ANPA 2Y2E 7Y
200,000 105 2,000
CHAURIR AAHZO)BIAAY X2
J 3,000,000 %14 3,000
cHATWY 2YSE 7Y
100, 00021465 %203 12,000
SHOIHE 47 242
3,000, 0002!%23] 6,000
ol +H +48
3,000,002 23] 6,000
oolPs2)| AR SHREE 7Y
56021004 +5,0002 28,000
SIIE4BNE YRS 7Y
56021 *30H+5, 0002 8,400
oBBRIY M2 R LI 242
900, 00024+ 14! 900
ogxz 56,000
SHIIZ(2Y, Y, HEHIIZ S)Hel &
HEBE 560000241003 56,000
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A oIE X2

CHels AU XIE S EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e

01 Al&Hl 20,000 0 20,000
OFHLHE oKXl SXAIL (SXIAIL LEOZT
HuwAl) 20,000,000& 14! 20,000
| 10,000
T 1,800
Al 8,200
ATHAO A X e KR AL 210,964 433,160 N222,1%6
& 63,304
Al 147,660
402 QI2ERHE0I & 210,964 433,160 A222,196
& 63,304
Al 147,660
02 QIZEXHE AL E X (01 MTHE ) 210,964 433,160 N222,1%6
OAITHAOIL K| Z=E4 X3 AP
210,964,000& 14! 210,964
T 63,304
Al 147,660
ATHA X S=EXIJA 2,304,622 2,709,916 A405,294
= 980,060
& 186,308
Al 1,138,254
401 AIEHIZL 28I 2,304,622 2,709,916 A405,294
= 980,060
& 186,308
Al 1,138,254
01 Al&HI 2,304,622 2,709,916 A405,294
OAMAMAHHX 8= KIJ AL
2,304,622,000& 14! 2,304,622
= 980,060
= 186,308
Al 1,138,254
oauXae =4 7,604,863 7,009,600 535,263
= 4,200,000
= 960,000
Al 2,444,863
=2MI|AsA E58 2 2 4,863 6,100 A1,237
201 2| 4,863 6,100 A1,237
02 23244l 4,863 6,100 21,237
O3sxe 29 & RAE= 4,863
oXEHEER 1,063,000 «1CH 1,063
oXtEHZH|(F=4) 150,000& x 122 1,800
oxEFrNRAl ¥ AR FY
2,000,000 *1CH 2,000
=AM SI ESAHY 6,600,000 7,003,500 A403,500




A2 AN BA2
I AMTHMOLK 22 K

A oIE X2

ol OIU XAt S|4 EER=E)
A 2A - ZB . S(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
= 4,200,000
< 960,000
Al 1,440,000
402 RIZHAHZ01H 6,600,000 7,003,500 403,500
= 4,200,000
< 960,000
Al 1,440,000
02 QI AHZ AL E (01X THA 6,600,000 7,003,500 403,500
O==adIINSIt 25 A
33,000, 0002 *200CH 6,600,000
= 4,200,000
< 960,000
Al 1,440,000
KIS AALA(RIS) 1,000,000 1,000,000
308 XXM SOIA 1,000,000 1,000,000
07 AXEH2LFE= 1,000,000 1,000,000
OXISSEAIAFA(RIS) 1,000,000, 000& * 14! 1,000,000
IRl 2el X1 2,928,449 2,966,669 N3B,220
= 33,750
[ 158,619
Al 2,736,080
HUX 22 At 2,928,449 2,966,669 138,220
= 33,750
& 168,619
Al 2,736,080
I X122l K12 10,540 13,100 22,560
201 Ler2 | 3,000 3,000 0
01 At2t2lt] 3,000 3,000 0
ool Xi2e| g8 =&
3,000,000 *14! 3,000
202 Ot 5,940 8,100 12,160
01 =LioiL 5,940 8,100 A2,160
ORI 22| At =X O]
30,0002 +x6& »333] 5,940
203 HR=&H] 1,600 2,000 2400
03 A=A 2= 1,600 2,000 2400
OABF=RHR=Z 1,600,000 %14 1,600
NASEE ERHIIALE HEAY 4,881 5,770 1889
< 1,464
Al 3,417
201 er2&| 4,881 5,770 2889
< 1,464
Al 3,417




D ZHEE=

A oIE X2

= olHX 22l X
S UKl 22 A (SH9 H2)
Al = X ol(s = @EE =
AZ .24 - BH - H(3) - HRAY - BES Ofl kel Ol &bt Hwsz2
01 ArR2eltl 4,881 5,770 839
OMASEE &5 HIIANE AEFH
4,831,000 14 4,881
< 1,464
Al 3,417
ENHEA STLZ XSG 2ES 2,041,250 2,041,250 0
308 AEXIHMSOIH 2,041,250 2,041,250
14 JIEtRE3 2,041,250 2,041,250
OEHHEA SHHZ XNSSIMY 224
XHz) 8, 165,000,000 *25% 2,041,250
STAIA BZ XJAAE 290,728 144,620 146,108
201 L2 | 1,400 1,400 0
01 ArR22teltl 1,400 1,400 0
OZAIAZS SRS 3o =
70,0003 *10H »23] 1,400
402 QIZERHE0I A 289,328 143,220 146,108
01 QIZEXH2 AN 2 2 (REAITH &) 289,328 143,220 146,108
OZAIJIA Qo2 &Xidl K&
825,000 *501Z! K| *70% 289,328
=8 SADIA ESEH 479,840 669,849 190,009
= 143,952
Al 335,888
402 QIZERHE0|® 479,840 669,849 190,009
== 143,952
Al 335,888
02 QIZEXH2 A 22 (01 & TH &) 479,840 669,849 A190,009
OHSFE TADIA BEZSUAS
479,840,000 *14] 479,840
= 143,952
Al 335,883
MASE DB IIAKEIHD| BE2AL 10,260 16,140 Ab5,880
== 3,078
Al 7,182
403 XX SHHMSK=01A 10,260 16,140 25,880
== 3,078
Al 7,182
02 I 2S0HE A2 E 2 ALY 10,260 16,140 A5,880
OMASS DRI JrACHMIIE DI (EHO
0=3) 22Ad 60,000&*1715 10,260
= 3,078
Al 7,182
LPGEI| ALEIt7 AlEIHE AL 67,500 67,500 0
= 33,750
= 10,125




A= FRBYR
Za: LT 22l X

A oIE X2

2l iHX 22 At (SH9 H2)
AZ - 2A - FB . OI(SH) - NRAY - BES 0 & A HimE==T
Al 23,625
403 AXIEHMSA=01d 67,500 67,500 0
= 33,750
< 10,125
Al 23,625
02 SIS0t =2 2 P E A I 67,500 67,500 0
OLPGEI| AMEItT AIENE AL
225,0002 *300A TH 67,500
= 33,750
< 10,125
Al 23,625
HIHX Sa2el 23,450 8,440 15,010
201 er23| 22,010 7,000 15,010
01 AtR2t2l] 17,000 4,000 13,000
O=28 21| ¥ *=2
1,200,000 %13 1,200
OHEI ZIIBA L2 =3
12,000,000 *14] 12,000
OHEI V188 & SE233E S 824
1,800,000 %14 1,800
OJNAEAI DY S22 MA
1,000,000 14! 1,000
ONAEEY A2F 78
1,000,000 %14 1,000
02 s5=34l 5,010 3,000 2,010
OJtA HNEE =2
30,0002 =167 AICH 5,010
301 LEENS 1,440 1,440
11 SEARHIXES 1,440 1,440
OJAQHN o S224 24 M3
8,000& x4 & *455] 1,440
TEAIE 2 4,414,300 6,569,300 2,155,000
< 200,000
Al 4,214,300
CIXtQI =g 2te| 4,414,300 6,569,300 2,155,000
< 200,000
Al 4,214,300
E2e & 230 e H=Es UE & e 101,500 201,500 100,000
401 Al&BIL S CHYI 101,500 201,500 100,000
01 Al£ZHI 100,000 200,000 100,000
O=2H JI=8 ¢4
100,000,000 14 100,000
03 Al 2 HHI 1,500 1,500 0
OE2H JIZE did 1,500,000 14! 1,500
SHs 2 - 22t XEHE Arg 200,000 300,000 100,000




A= PR
H2: XoALL

A oIE X2

;F?_—i: CIRtQI =Y 2te] EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e

401 AIEHIZL 28I 200,000 300,000 A100,000
01 Al&Hl 200,000 300,000 A100,000
OSHs 12 - 2ots &4 2 i
200,000,000 * 14 200,000
TEHAEE RAl2 2,910,000 2,915,000 25,000
201 L2 | 2,075,000 2,075,000 0
01 At 22|l 5,000 5,000 0
OJt2 - 2ots HNMAIH =22
25,0003 *2000H 2~ 5,000
02 2324l 2,070,000 2,070,000 0
Ooxzs Mz 930,000,000 » 14! 930,000
Oogots Mg 1,050,000,0002 * 14 1,050,000
OZ3&xXd dMII= 90,000,000& * 14! 90,000
206 M=4| 25,000 30,000 A5,000
01 =4I 25,000 30,000 25,000
OXZANEE B8 N7
25,000,000& %14 25,000
401 AIEHIZL 28I 810,000 810,000
01 Al&Hl 800,000 800,000
OZZ2XY - Z2AXGANE RIS L O
800,000,000 14 800,000
03 Al S CHHI 10,000 10,000 0
OE2Z2XY - Z2AXHAIE FRIE+ 2 e
10,000,000 14 10,000
SSTHY 2ots - Z2XE M|z X2 200,000 160,000 40,000
307 QI2H0| M 200,000 160,000 40,000
02 QIRHEAAIH B X 200,000 160,000 40,000
O3 2otgs, Z2XH M)z K&
500, 000-& *200H 2~ #23] *100% 200,000
SEXY ZHAIL A 100,000 200,000 A100,000
401 AIEHIZ 2018 100,000 200,000 A100,000
01 AlEHI 100,000 200,000 100,000
OSRYXSE ZHAIE e
100,000,000 14 100,000
NZ2S UK EE3 A 200,000 300,000 100,000
401 AlEHIZ 20| 200,000 300,000 A 100,000
01 Al&HI 200,000 300,000 A100,000
OJI28 HUXIE8s At
1,000,000 2004 200,000
Or2t F&XQ Ald & M 151,000 801,000 A650,000
401 AIEHIZL 2018 151,000 801,000 A650,000
01 Al&Hl 150,000 800,000 A650,000
OO0t Z2xH MA I i
150,000,000& * 14! 150,000




A= YREA2 SA T OB
A ZHAA 22
el el xg 2l (Che 2l
AR . 2N B 09 (3H) - NRAY - B2 ofl b dE= RS2
d=- 74358 = 45 . 0l & s
03 A& 2 0HHI 1,000 1,000 0
OO0 ZREY A& U A
1,000,000& 14! 1,000
EEXY MINEE &N B 100,000 100,000
401 A& HILE0HH] 100,000 100,000
01 Al&H| 100,000 100,000
ONBHR & B4BAl
100,000,000 * 1A 100,000
CIXFRIZEE A =X 2HAH| 1,800 1,800
202 04| 1,800 1,800
01 2L Y| 1,800 1,800
OCIXIEZHAISE =& |
30,0002 x3E *203| 1,800
L gD ¥ SHE JH| AY 50,000 50,000
401 AIEHIZL 01 50,000 50,000
01 Al&H| 50,000 50,000
OkL=s: d9)| & SAet MH|AFY
50,000,000 x 14! 50,000
ZollE JIE2S wWHISA 400,000 0 400,000
= 200,000
Al 200,000
401 A& H|ILE0HY] 400,000 0 400,000
& 200,000
Al 200,000
01 Al&H| 400,000 0 400,000
OLZE JIZE WHIZA
400,000,000 & * 1A 400,000
= 200,000
Al 200,000
SHAHSAAH| (0l Xl 27,984 31,440 N3,456
[=&d| 27,984 31,440 N3,456
J|l2&h| 27,984 31,440 N3,456
201 LBr2AH| 19,184 22,640 N3,456
01 AFR22teltl 19,184 22,640 N3,456
OdgHIANRES 7Y 600,000+ 12& 7,200
OQOAIRI12| A2HIS 500,000 x12& 6,000
R2RE= 18,0003 *4Sx 128 864
Od%D| dx= 60,0002 128 720
OZ4lH| 8,000& x 10 x5 4,400
202 04| 5,200 5,200
01 2| 5,200 5,200
OJ 12828 |
40,000&*10¥9* 133l 5,200
203 R =&IH| 3,600 3,600 0




>
H)

AR AP EER SA Ol X
I #Y2IFHI(MEXIDL)

SoT o

&t JI=Z

AR R4 - B SAE) - HRAY - BES ol &rey A

]l 3,600 3,600
e=x=d 300,000 123 3,600




Al A

=H o
A= JHEE= A 0 A
A HE . ME 2AEAE XM
Gl METE 4 EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
A=) 17,344,214 15,279,485 2,004,729
= 5,128,840
s 681,520
CH 1,300,000
T 2,795,333
Al 7,438,521
- ME 2E4E =4 17,198,114 15,133,115 2,004,999
= 5,092,840
s 681,520
CH 1,300,000
= 2,779,133
Al 7,344,621
METE A 2,954,084 2,212,234 741,850
= 532,374
s 681,520
& 939,208
Al 800,982
2ME =4 133,764 507,527 A373,763
= 47,351
& 19,443
Al 66,970
402 QIZ2ERHE01 & 133,764 0 133,764
= 47,351
& 19,443
Al 66,970
03 RI2HREF AN ] 133,764 0 133,764
OZ3NE =&EAMd 133,764,000 & 14! 133,764
= 47,351
& 19,443
Al 66,970
AZ2TIHA =712 807,949 725,2% 82,653
= 417,949
& 157,500
Al 232,500
401 AIEHIZL 28I 30,000 725,296 A635,2%6
= 15,519
& 5,848
Al 8,633
02 eyl 30,000 0 30,000
O42TIoHX =78 AtY Zeldl
30,000,000& %14 30,000
= 15,519
= 5,848




D ZHERR
X XH - 5(:3—]@ .AHEH
2 MR FH

2A

B
i
]

=ty

it

ESA|

0

i

A2 2N BB O9(3) - HRAY - BES Ofl by A HImEET

Al 8,633

402 QIZ2ER=201 ™ 777,949 0 777,949
= 402,430
& 151,652
Al 223,867

03 QIZHIEAIS I 777,949 0 777,949

O&Z2TIoHK S72EE At

777,949,000 * 14 777,949
= 402,430
& 151,652
Al 223,867

ZUe == 104,512 24,100 80,412
= 44,262
& 18,075
Al 42,175

402 QIZ2HR=20I ™ 104,512 0 104,512
= 44,262
== 18,075
Al 42,175

03 QIZHIEAIS I 104,512 0 104,512
OSYUXE At 104,512,000 * 14| 104,512
= 44,262
= 18,075
Al 42,175

AT Al 973,600 501,000 472,600
iy 681,520
= 146,040
Al 146,040

401 A HIYLL20HY| 973,600 501,000 472,600
g 681,520
T 146,040
Al 146,040

01 Al&HI 950,000 491,000 459,000
OKt2Rgd & 454,000,000 * 14 454,000
g 317,800
& 63,100
Al 68,100
(@rdzai>ics 496,000,000 * 1A 49,000
= 347,200
& 74,400
Al 74,400

02 Ze2ldl 23,600 10,000 13,600
OKt2RIgd & 13,600,000 * 14 13,600




D dHEd= Sy A=
1 RPULTETE I %
P dEiE 24 (EHol: &9)
224 BB . O (30) - NIRAY - BYS A TmET
rag 9,520
T 2,040
Al 2,040
(@rdzai>is 10,000,000 * 14 10,000
rag 7,000
= 1,500
Al 1,500
AT A (HEAIY) 748,094 228,001 520,093
= 530,994
Al 157,100
101 Q14| 48,485 46,176 2,309
== 38,303
Al 10,182
M IIZINZ2EXNSES 48,485 46,176 2,309
Oz |d 16,161,600 *3H 48,485
& 38,303
Al 10,182
201 Let23H| 15,500 13,940 1,560
T 12,246
Al 3,254
01 A2l 12,500 11,540 960
ogzae| 1tz & 24 XN
10,000,000 * 14 10,000
== 7,900
Al 2,100
OYEEsr AQH 253
2,500,000& * 14 2,500
T 1,976
Al 524
2 S3294| 3,000 2,400 600
O] XEH2FYI
3,000,000 14 3,000
& 2,370
Al 630
401 A HIZL 2 04| 682,109 167,885 514,224
T 538,865
Al 143,244
01 Al&HI 666,109 163,566 502,543
OUT MM (RZME)
420,684,000 14 420,684
= 332,340
Al 88,344
OYUZAE(E%) 226,250,000 * 14 226,250
& 178,737




= JMNEE= A 0 A
A HE . ME 2AEAE XM
el MEAE XF EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
Al 47,513
OLZAIE(AEEA) 19,175,000& % 14! 19,175
= 15,148
Al 4,027
02 2eldl 16,000 4,319 11,681
O AIE(RZNE) 10,000,000 * 14! 10,000
& 7,900
Al 2,100
OLTAIE(E%) 6,000,000& 14 6,000
= 4,740
Al 1,260
405 KHHE SH| 2,000 0 2,000
& 1,580
Al 420
01 XL = SF S| 2,000 0 2,000
Og&zelg Fdl #
2,000,000 14 2,000
& 1,580
Al 420
HOIR= =4 2 29 98,900 106,900 A8,000
201 LEr2 | 3,000 3,000 0
03 A2 G| 3,000 3,000 0
Oal=ZdA 29 3,000,000 14! 3,000
206 M= 4l 92,000 100,000 28,000
01 M=l 92,000 100,000 28,000
OULIRHI| AL 221
6,000& +15,000=2 90,000
OXEAMY HAEF A
20,0003 *50& 1,000
O=gAd Hlz+< 10,0002 100 1,000
301 L2 Z 3,900 3,900
11 HALAHIXIEZ 3,900 3,900
OUR =001, Al=sdAt S
8,000 *300H 2,400
OMeEM E823 EEX AMtdZ S
150,000 *5H*23] 1,500
38 B3 (FEHE) 7,280 8,400 21,120
= 3,120
& 1,248
Al 2,912
402 QI2ERHE0I & 7,280 8,400 21,120
= 3,120
& 1,248
Al 2,912




=
nl
<

2A

i

by

3 K| &2

2:
o

A=
T ZH -

70
Kq

0

jo

-

O

==

w)
)

3 -

o™

od
i’
oF
uJ

X0
KA
o

AHE A

=aak

S S S8 S & &8 &8 S S
= ~ ~ ~ S ~ ~ ~ ~
a | - - - : R & - -
Klo <
E
E=)
8 3 3 3 2 g e ° °
- S S S S S S
© < < < = %) %)
S
L&
<l
RIS
Al Al © N~ Ql N~ Ql
T RS%5]85E85E8] S5ER2E8BE858R8 B58R 55258 8885
N N o® - dldad S|l d S8 8 od 0 Sl <o~ = = =
ar
<
=]
mwW=<| mw=| mu= MW= MW= muH = W< M= W=
S = ¥ o
F = o e
or = x > .
%0 5 = s &
B [ * g ¥
N m [ %, of
2 s g -8
= 3 S R
I+ R © . S o) zl
B o 5 K
—~ = = — 5
= |2 m R W 2 5
& |l = o0 S ol i
Y1z w ol — & o
N LY ay R Al
= iy ol ™ = T
o) K- - K- = Al
. =< 4 e =) = D o =} E=I
& |y on o ol M ol A 30 5 W = W
LN =g T = R I il 0f w < s &
S o A A RO ) o R 5 5 R
%z |o _mu___ ol =1 = m_w_ wr ol = % ) i %
U o S & A 5 5 S 5
1] Al o
A




= dNEd= SAME
M HA - ME} 2SLE =4
Gl METE 4 EER=E)
AR 2M BB C(BH) - NIRAY - BYS Ofl Ao Oﬁ]gﬁ HRE2
401 AIEHIZL 20| 12,150 57,970 45,820
= 6,075
& 1,822
Al 4,253
01 Al£ZHI 12,150 57,970 A45,820
O=M=2 Szl 12,150,000 » 14 12,150
= 6,075
< 1,822
Al 4,253
SHENEAY 223 5,600 6,000 2400
202 04t 4,000 4,000 0
01 2LHA Y] 4,000 4,000 0
OtEtaryd g2 =4
20,0002 x4 +503] 4,000
203 HR=AH] 1,600 2,000 400
03 A=A H =AY 1,600 2,000 2400
OLHEAIM HRFH 1,600,000 14! 1,600
Zletd S 20,000 0 20,000
= 10,000
< 3,000
Al 7,000
301 LEENS 20,000 0 20,000
= 10,000
< 3,000
Al 7,000
4 IIEt2 83 20,000 0 20,000
OzlatE Sy 20,000,000 14! 20,000
= 10,000
[ 3,000
Al 7,000
S AIE(AIHI) 35,000 0 35,000
207 o0l 35,000 35,000
01 H2E4H| 35,000 35,000
Oozdx sy 35,000,000 *14! 35,000
SHEME - 2 F0|s A 617,393 585,362 32,031
= 216,295
< 63,841
Al 337,257
ATHOHZ Kt EII(MSHHNSHE L) (ZA) 74,802 73,214 1,588
= 37,401
[ 11,220
Al 26,181
101 QI24H| 74,802 73,214 1,588




HE: BT . ME 2N
ol AZIMEY - BAI|s A

D ZHEE=

2-

x
i
]

AR RA BB B(S) - MBAY - B Ofl by A HnE2

= 37,401
= 1,220
Al 26, 181

B RN EEN L 74,802 73,214 1,568

SREEL LRl

74,802, 00021 %141 74,802
= 37,401
= 1,220
Al 26, 181

AT T2l A (AR SO ZHEH (X2) 1,980 1,960 0
= 9%
= 297
Al 6%

206 HEH| 1,980 1,980 0
= 9%
= 297
Al 6%

IEET 1,980 1,960 0

SNEEL N E !

1,960,000 %14} 1,980
= 9%
= 297
Al 6%

R EEDY 317,320 177,870 139,450
= 177,904
= 41,824
Al 97,50

201 YEr2 | 26,714 25,011 1,703
= 13,907
= 3,842
Al 8,965

01 Al222|H] 23,054 21,330 1,724
SREELEE] 23,054, 0002 14! 23,054
= 11,924
= 3,339
Al 7,791

® Z2egy| 3,660 3,681 A21
SREELEE 3,660, 0002 *14! 3,660
= 1,983
= 508
Al 1,174

202 01t 8,469 4,966 3,503
= 4,354




A2 AREA= SA A
MR HE - ME YSNY X8
SR AHMEY - B H)|s S8 EERCED
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
STrTATSRtE T == B Ofl &k o se
& 1,234
Al 2,881
01 =WO4bI 8,469 4,966 3,503
Ot gl s 2 A 8,469,000 14! 8,469
= 4,354
& 1,234
Al 2,881
401 AIEBIZ20HbI 282,137 147,893 134,244
= 159,643
= 36,748
Al 85,746
01 Al&HI 265,137 129,893 135,244
Odrel a2 140, 137,000 * 14 140,137
= 86,634
= 16,051
Al 37,452
OBfielt 234 SSLA
125,000,000 * 14 125,000
= 62,500
= 18,750
Al 43,750
02 2eldl 15,000 15,000 0
Odrel i S 15,000,000 & * 14! 15,000
= 9,273
= 1,718
Al 4,009
03 AIE 2 CHHI 2,000 3,000 A1,000
Ot gl S 2Al 2,000,000 %14 2,000
= 1,236
= 229
Al 535
2S+FH| 35,000 30,000 5,000
& 10,500
Al 24,500
401 A& HIZ 200 35,000 30,000 5,000
& 10,500
Al 24,500
01 AlEHI 35,000 30,000 5,000
2SFH| 35,000,000& *14! 35,000
& 10,500
Al 24,500
SAIF=H SREAURY BE 152,791 159,990 AT7,19
101 @124l 77,791 75,990 1,801




AR AHEA= SA ARID
M B . ME YA T4
CHel: ARRIMEY - BEIIS BX (el mel)
A 2A - ZB . S(3H) - HIRAY - BAES Ofl Ao Oﬁgﬁ HD=2
04 JIRIN22XS 24 77,791 75,99 1,801
ODAS HH 224,390 *32*402 26,927
Osycx 95,2001 +38 * 1502 42,840
OnBMNEEE PU3
69,766, 80021%3. 5% 2,442
O=eiYPEE 2u3
69,766, 80021+8% 5,582
201 UBr2SY| 2,000 4,000 2,000
01 AR 22lt] 2,000 4,000 2,000
OTAS M FHIYZ L AFFT A
2,000,0002!%14! 2,000
401 AIEHI L2 0b] 73,000 80,000 A7,000
01 Al 70,000 75,000 5,000
OTAIZEY 2AURY BEAY
70,000,00024 14} 70,000
03 Al& S CHH| 3,000 5,000 2,000
OTAZEY 2AUSY HEAY
3,000, 00021 %14! 3,000
NYMEIEE 2Z Al 5,500 7,600 A2,100
201 LBr2AY| 2,000 3,600 1,600
01 ALR22lt] 2,000 3,600 1,600
Osg242 2,000,000 %14! 2,000
202 01t 3,500 4,000 A500
01 2LH0iH| 3,500 4,000 A500
OMBME - 8BS BT 2P =&
20,0002 #5353 3,500
AXITE Z| 30,000 30,000 0
207 1P| 30,000 30,000
01 eipgey] 30,000 30,000
OMXIRE Y| 30,000,000 14} 30,000
R E LT 8,798,361 7,561,082 1,237,299
= 1,826,509
o 1,300,000
= 1,070,372
Al 4,601,500
ARITHGHL RFR] EDI(AHE R 202 EI BHTH) 1,876,920 1,814,370 62,550
2 750,768
= 337,846
Al 788,306
101 124 1,807,920 1,794,370 13,550
=2 723,168
= 305,426
Al 759,306
04 JRIH22NS 24 1,807,920 1,794,370 13,550
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AR FHEB= A AED
A HF . ME YSMY TA
SHel: AR MRS YE (crol: m2)
A2 2N - BB O9(E) - HISAY - BES il v A HlDE2
Al 24,370
SUMEIBFOLE 222
300, 00024 4% 1,200
= 480
= 216
Al 504
201 Yer2ey| 2,000 2,000 0
= 800
= 360
Al 840
01 AL 22| 2,000 2,000 0
OS227 2L 2 SAR+Y 2,000
oSZ=R LY
5,002 +4Z5 6001 1,200
2 480
= 216
Al 504
SLAEHFOIR Y 4G
100, 00024 +4% 23] 800
2 320
= 144
Al 3%
NEESEEIET)) %, 142 74,179 20,963
2 3,3%
= 15,927
Al 43,820
201 Yer2ey| 80,489 74,179 6,310
= P,1%
= 14,487
Al 33,807
01 AL 22| 63,289 56,979 6,310
OME0, F5t B4l
6.0002+2,050% 12,300
= 4,920
= 2,214
Al 5,166
OMHQIT 3| 389,890+ 100CH 38,969
= 15,59
& 7,017
Al 16,377
OAESIBAEHIH ()
4,500,002 141 4,500
= 1,800
= 810
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AR AREA SA  ARD
M HE . ME 2SN TN
el A= Ag2ACIs Bt (Gt H2)
AT SN FE . B(BH) - HSAY - B ofl vy aET HD=2
d=-FA-85%-8 o 8= = ofl &b s2
Obt=2AHE2HHI Al A E
130,000 *255CH 18 33,150
= 13,260
= 5,967
Al 13,923
405 XHAHFSHI 58,000 0 58,000
= 23,200
= 10,440
Al 24,360
01 AL 2 EF S| 53,000 0 58,000
O/ 8GR &F 48,000,000 = 1CH 48,000
= 19,200
c 8,640
Al 20,160
OREESAEY(ZHDIIXIZ)
10,000,000 & = 1CH 10,000
= 4,000
< 1,800
Al 4,200
AL20i8E X 1,461,707 1,478,389 N 16,682
101 Q124d| 1,156,407 1,128,989 27,418
04 JItNI2Z2sEE 1,156,407 1,128,989 27,418
OMNEKSSZAIE 2121
78,8302 x85H x 150! 1,005,720
(@k=4=-1=1 1,005, 720,000 % 12% 120,687
Oz=&gs ®&H XA
30,000,000 & * 1A 30,000
201 LEt2AH| 235,500 258,600 A23,100
01 AFR2t2lHl 157,300 187,800 30,500
Odr20jgr 20 10,0002 *2,5000H 25,000
O/ 0 Xt 5,000& *1,5000H 7,500
Oxt=201et 2Kt 7,000& *1,0007H 7,000
OArS SR CHEH =X HI&
6,000 x250 1,500
Ot 208 =222 HIE
5,000,000& * 1A 5,000
OQZ2AZ OFM &R 150,000 *50SET 7,500
OdtERlg= 130, 000& =100 13,000
ONt2 85 oFN S 150,000& *150=t 22,500
OALSHIAZR S|
8,000 x7H %150 8,400
OLIEHIAI2LE SEHI(SHS)
2,800,000& 1852 A 50,400
Odtt2&d 1,500, 000& =14 1,500
O2d&I| dA= 80,0002 *100CH 8,000
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o= ZHEE= SAME
M HA - ME} 2SLE =4
Rl ME-RXLAE2CDIS HE EER=E)
42 RA - ZB . G9(3D) - HRAMY - BYS Ol & A HlmE2t
Ott=F X ZAIE B
1,126,407, 000 14! 1,126,407
< 337,922
Al 788,485
SHEMY 201 gxt 360,360 714,420 354,060
308 XXM SOIA 360,360 714,420 354,060
07 XM RS2 360,360 714,420 A354,060
OLEUZI Xt AHIRES
360,360,000 x 14 360,360
AMEH d=0gEsS X2 29,750 35,700 25,950
< 8,925
Al 20,825
301 LEEEZ 29,750 35,700 25,950
< 8,925
Al 20,825
14 JIE2 =S 29,750 35,700 A5,950
OXrdctH M=0eges K2
29,750,000 *14] 29,750
< 8,925
Al 20,825
Ol8d d=oges XA 93,000 111,600 18,600
< 27,900
Al 65,100
301 LEEEZ 93,000 111,600 18,600
< 27,900
Al 65,100
14 JIE2 43 93,000 111,600 18,600
O0lsd ¢t=0ges X
93,000,000 *14] 93,000
< 27,900
Al 65,100
S Z2YUXNEH A2 4,200 6,000 21,800
[ 1,260
Al 2,940
201 er23 | 4,200 6,000 21,800
< 1,260
Al 2,940
02 S3=gl 4,200 6,000 21,800
Og=Xl 24L& |A2el
4,200,000 14! 4,200
< 1,260
Al 2,940
AHATHE X 437,900 439,700 21,800
201 Ler23 | 2,500 2,500 0




o= ZHEE= SAME
M HA - ME} 2SLE =4
Rl ME-RXLAE2CDIS HE EER=E)
A 2A - ZB . S(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
01 At2t2ltl 2,500 2,500 0
Ooss3s7 =AM
5,000 35+ 100H 1,500
ONHIZ2L S4H| 1,000,000 %14 1,000
401 AlZBIL S THY] 435,400 437,200 21,800
01 Al&ZHI 400,000 400,000 0
Ot ol el =SHAHALS
200,000,000 x 14! 200,000
OLHEMHHE X SES=7AIE
200,000,000 x 14 200,000
02 2eld| 30,000 30,000 0
Ot E LR SS=STAIY
30,000,000 *14] 30,000
03 Al 20HHI 5,400 7,200 21,800
OLHEHHE X SES=S7AI
150,000 x3& » 122 5,400
HEEE AlHIRY2 26,158 69,750 N43,592
308 AHXIEMSOIH 26,158 69,750 N43,592
07 HXHH2LRES 26,158 69,750 A43,592
OAREHE AMHIRES
26,158,000 * 14 26,158
At ZX 750,000 1,000,000 250,000
= 525,000
= 157,500
Al 67,500
401 AlEHIYL S THYI 750,000 1,000,000 A250,000
= 525,000
= 157,500
Al 67,500
01 Al£HI 729,000 1,000,000 A271,000
OArtd &Xl 243,000,000 *30H 2 729,000
= 510,300
[ 153,090
Al 65,610
02 Zeld| 21,000 0 21,000
OArZ e &X1 22l&9
7,000,000 370 21,000
= 14,700
< 4,410
Al 1,890
Artegzie| (F4) 42,000 28,000 14,000
= 29,400
[ 8,820
Al 3,780
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B
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]

AT 2A B BR(E) - HRAY - BES

Ofl &F2H

MEE
Ofl &k2h

401 AIZHIY 20

Mo

=

42,000
29,400
8,820
3,780

28,000

01 A<l

OArtd =4

7,000,000 *6IH 2

Mo

42,000
42,000
29,400
8,820
3,780

28,000

14,000

HREH B8O

530

1,412

N\B82

308 XHXIEHA

530

1,412

N\B82

R=ps]
07 Xt 2E2

OA=EN EB18ddEIt AlHIRE=S

530,000 %141

530

530

1,412

N882

hoH

=

21,120
14,784
4,435
1,901

23,760

N2,640

401 AIZHIZ 20

mnoH

=

21,120
14,784
4,435
1,901

23,760

A2,640

01 A&l

OArg e 2tE

220,000 *96IH 2~

Mo

=

21,120
21,120
14,784
4,435
1,901

23,760

A2,640

Mo

=

202,500
141,750
42,525
18,225

162,000

40,500

401 Al HIZL S 0HYI

Mho

=

202,500
141,750
42,525
18,225

162,000

40,500

01 AlIZHI
O&EXIALE

02 Zeltl

OLHIALE ZelE9

194,500,000& * 14!

8,000,000 *14

hoH

194,500
194,500
136,150
40,845
17,505
8,000
8,000
5,600

152,000

10,000

42,500

A2,000




dHSE= Sy A=
HE . ME) 22N X
=Xl arg2eldlis EER=E)
2A - BB O (30) - NIRARY - BLS A TmET
= 1,680
Al 720
SHEH BT ABIRES2 1,059 1,412 353
308 AHXISHHMSOIN 1,059 1,412 353
07 XERICHIRb RS 2 1,050 1,412 N353
OIS EFHET} AlLIS
1,059,000 & * 14! 1,059
AAIE Q2B Z AHIRES 554 317 237
308 AXISHHSOIA 554 317 237
07 RIXISHH2E2E2 554 317 237
OMZAIL o|BH
554,000 14! 554
AFAFER THLE Z AT (A X AE AL 48,300 36,400 11,900
= 24,150
= 7,245
Al 16,905
401 Al HIYLL20HH| 48,300 36,400 11,900
= 24,150
T 7,245
Al 16,905
01 Al&HI 48,300 36,400 11,900
OOLEALE &M 22
700,000 *69IH A~ 48,300
= 24,150
T 7,245
Al 16,905
Sreh JAUEH 54,202 46,172 8,030
= 37,913
T 11,380
Al 4,909
401 Al HIL20HH| 54,202 46,172 8,030
= 37,913
& 11,380
Al 4,909
01 Al&HI 54,202 46,172 8,030
oMY Z3UEZH 54,202,000 3 * 14! 54,202
= 37,913
& 11,380
Al 4,909
=ANEEE2 29 200,000 150,000 50,000
T 30,000
Al 170,000
300 MES 200,000 150,000 50,000




o= ZHEE= SAME
M HA - ME} 2SLE =4
Rl ME-RXLAE2CDIS HE EER=E)
A 2A - ZB . S(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
[ 30,000
Al 170,000
01 SAt- SHEYTES 200,000 150,000 50,000
O=AHES2 AL
140,000,000 *14] 140,000
OsAEEEa(A20Y) 28X
60,000,000 *14] 60,000
< 30,000
Al 30,000
oAl dEdetxt XA 100,000 0 100,000
[ 50,000
Al 50,000
402 QIZEXH201H 100,000 0 100,000
< 50,000
Al 50,000
02 RIEN2AISEZ (01 M THR) 100,000 0 100,000
OdEXERE 7
50,000,000 *1CH*2H 2+ 100% 100,000
< 50,000
Al 50,000
AHZ THGHCH 2K 407,198 0 407,198
= 203,599
Al 203,599
401 Al&BIL S CHYI 407,198 0 407,198
= 203,599
Al 203,599
01 Al&HI 398,698 0 398,698
OHZ = MHHSTZAHALALER)
260,100,000 %14 260,100
= 130,050
Al 130,050
OHZ Itz MaH=sS72SAHLEE)
138,598,000 14 138,598
= 69,299
Al 69,29
02 Zeld| 8,500 0 8,500
OHZ Itz MHHSTZAHAIALEY) 22l
5,000,000 14! 5,000
= 2,500
Al 2,500
OHE Jt= MolS73AHLE) 228
3,500,000 *14] 3,500
= 1,750
Al 1,750
=AIEEZ2 0ICI00tE2 =4 1,300,000 0 1,300,000




= dNEd= SA A
A HE - M 2808 &8
el Mg AE2ACDIS 25t (SH9 H2)
AR RA BB B(S) - MBAY - B Ofl by A HmS2
CH 1,300,000
404 SAHSHAZ2HES 1,300,000 0 1,300,000
CH 1,300,000
01 SAt- SHAZ2HES 1,300,000 0 1,300,000
O=AIZES2 0ICINotEZ =4
1,300,000,000& 14| 1,300,000
CH 1,300,000
SMEAS 2EPIE 25 4,821,586 4,731,173 90,413
= 2,512,252
< 705,334
Al 1,604,000
™ORN RE) 3,992,743 3,637,341 355,402
= 1,996,372
< 598,912
Al 1,397,459
202 Ot 4,900 0 4,900
= 2,450
= 735
Al 1,715
01 2LHOIL 4,900 0 4,900
OFAM=II| 8 =&
20,0002 7 %353 4,900
= 2,450
= 735
Al 1,715
402 2I2FXH=01A 3,985,843 0 3,985,843
= 1,992,922
= 597,877
Al 1,3%5,044
03 2IZHRAETAI I 3,985,843 0 3,985,843
OFAM=IHI| ALY
3,985,843,000& «14] 3,985,843
= 1,992,922
= 597,877
Al 1,395,044
405 KHoHFSHI 2,000 0 2,000
= 1,000
< 300
Al 700
01 AL =S F=H 2,000 0 2,000
O=JHJl ZAF R 2| =8 728
2,000,000 *1CH 2,000
= 1,000
< 300
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2A

B
i
]

g 3 254 24
Rl MEAS 23D EF EER=E)
A 2A - ZB . S(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
01 that=S 3,000 10,000 /7,000
O3%8 Jd2&t| tia=
3,000,000& %14 3,000
401 AlEHIYL S THYI 20,000 30,000 10,000
01 Al&HI 20,000 30,000 10,000
S7E MEAMY 20,000,000 *14] 20,000
LA A 5,000 5,000 0
301 LEEES 5,000 5,000
11 BARHIXES 5,000 5,000
Od=H=AH U= &A
5,000,000& *14] 5,000
A== 01dEE E A2t 6,849 0 6.849
= 6,849
101 QI24H| 4,7% 0 4,7%
= 4,7%
M IRIMZZ2XNSE S 4,7% 0 4,7%
OF A Z 21 2t| 83,800 x 1 +54 4,7%
= 4,7%
201 er2 3| 2,053 0 2,053
= 2,053
01 At22telt] 2,053 0 2,053
O5ds 233 ¥ usAY|
2,053,000 *14] 2,053
= 2,053
GEASEE 233 2,880 2,880 0
202 Ot 2,880 2,880
01 =LHoi 2,880 2,880
OMEAS 23D &5 PRFA
20,0003 x3H »483] 2,880
Heygel SXdteY X 1,200 3,000 21,800
< 480
Al 720
301 LEENS 1,200 3,000 21,800
< 480
Al 720
14 JIEt2 8= 1,200 3,000 21,800
Ondeel EXHte™ X
1,200,000 %14 1,200
< 480
Al 720
dEYeol JHIEN A=A 4,680 7,128 12,448
< 1,404
Al 3,276
201 fet= 3| 4,680 7,128 N2,448




o= ZHEE= SAME
M HA - ME} 2SLE =4
Rl MEAS 23D EF EER=E)
A 2A - ZB . S(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
[ 1,404
Al 3,276
01 At2tltl 4,680 7,128 N2,448
ONEZYel YHEEX 2=KJ
4,680,000 14 4,680
< 1,404
Al 3,276
agel=g XA 9,800 14,000 24,200
< 5,880
Al 3,920
301 LEIEN S 9,800 14,000 24,200
[ 5,880
Al 3,920
14 IIEt2 8= 9,800 14,000 24,200
Ooggels=g X 9,800,000 14! 9,800
< 5,880
Al 3,920
AYES N2 405,392 0 405,392
= 405,392
301 EtE NS 405,392 0 405,392
= 405,392
14 JIEt2 4= 405,392 0 405,392
adg NHIES K=
405,392,000 x 14! 405,392
= 405,392
=RAE - ROI=HSE E=203 X 50,000 0 50,000
< 25,000
Al 25,000
307 2Ito1d 50,000 0 50,000
[ 25,000
Al 25,000
04 DIZFHAIAIZ E X 50,000 0 50,000
O=R1d - ROl=MEgd =032 X
85,000, 0002 *58.823% 50,000
< 25,000
Al 25,000
SE3E X 6,670 43,264 136,594
= 5,410
< 378
Al 882
MEH2 ASZTAZRZ 1,000 149 851
= 1,000
301 EtE NS 1,000 149 851




A= ZHEE=R L RN =i
I HE - ME USR] XS
el MEdEg A (SH9 H2)
AZ 24 - 3H - () - HRAY - BEZ Ol &koy OE:IEF% Hlns
= 1,000
14 et A2 1,000 149 851
OHEH2t ASZLE
1,000,000 *14l 1,000
= 1,000
BHECH2E FOIXIS 5,670 41,815 NA36,145
= 4,410
< 378
Al 882
402 BIZHRH=0|H 5,670 41,815 A36,145
= 4,410
(= 378
Al 882
02 QI XHBALHE E(OIFTHS) 5,670 41,815 A36,145
OS2 F2IX 5,670,000 x 14! 5,670
=2 4,410
[ 378
Al 882
HH2AAH| (AR 146,100 146,370 A270
= 36,000
< 16,200
Al 93,900
ol 114,400 109,400 5,000
= 36,000
(= 16,200
Al 62,200
ARITHOH L X2 SOI(AEXS0ISRSIH) SR oA 24,400 0 24,400
HI(AIHIZED})
101 QIAH| 24,400 24,400
03 SRH(RIHA) 2224 24,400 24,400
OME TS0 RIS 24,400
oY SIH|(AIHIZ=I})
4,833,000 *120% 5,800
o WEE XHI(AIHIZEI)
3,360,000 +14! 3,360
o HMUZAIH|(AIHIZI})
3,360,000 14! 3,360
oI (AIHIZFEI}
3,360,000 14l 3,360
o= (ALIFIL)
20,0002 x2% « 122 480
o¥2E(ABIFI
4,040,000 14! 4,040
oL, SBEISY(AHIZI})
4,000,000 * 14! 4,000




AR AREAR SA  ARD
M HHIHH(A2)
s lIEE2ghl EER=E)
AR -2 - BB GRS - NIRAY - BES ol ke Les HlmS2
4= -S4 -85 d * 4% = 0l &t S
ARATHOH Y Ktel SDI(MEXSULRISHH) SR oA 90,000 109,400 219,400
&l
= 36,000
L= 16,200
Al 37,800
101 Q124H| 90,000 109,400 219,400
= 36,000
= 16,200
Al 37,800
03 SR (RIHL) 22X E S 90,000 109,400 219,400
OJ12s 35,145,000& x2H 70,290
= 28,116
= 12,653
Al 29,521
Oxzu2R+Y
21,0002 2H*30A[ 2++ 102 12,600
= 5,040
= 2,268
Al 5,292
O=gz 7,110,000& 14! 7,110
= 2,844
= 1,279
Al 2,987
JlZ2&H| 31,700 36,970 25,270
J12&H| 31,700 36,970 25,270
201 2E2 ] 22,020 24,250 22,230
01 AFS2teltl 22,020 24,250 22,230
OCHIANRESZ & 4224 S5-I
500,000& x 123 6,000
OanE TM7HI 50,0002 105 500
OanE =4l 1,300,000& *53] 6,500
O4red I8 3| 380,000& *12] 380
OJlzgRsad sS4
8,000 x6H 180 8,640
202 044l 6,080 9,120 23,040
01 =B 6,080 9,120 A3,040
OJlzgR==8 o
95,0003 *16 L *43] 6,080
203 LR =&H| 3,600 3,600
M FA2ILHRFL 3,600 3,600
ORA2E 2=A 300,000& 123 3,600




H & 0l & AHS B Ml A

A= ZHEE= A =X
g ZERATA
ol TAISSE B35 (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
=Xt 27,343,218 22,528,828 4,814,390
= 70,368
J| 250,000
= 507,165
Al 26,515,685
FESLTA 9,589,067 10,606,044 A1,046,977
= 70,368
Il 250,000
= 482,165
Al 8,756,534
SA=SE2 =5 6,795,103 6,728,417 66,686
| 250,000
= 367,907
Al 6,177,1%
2 Z4dze| 240,400 255,400 A 15,000
201 L2 1,200 1,200 0
01 AFS2t2lHl 1,200 1,200 0
OEAE S92 24 - 22l &9 =&
100,000 6 & +22 1,200
206 =4I 50,000 60,000 /10,000
01 XM= 4l 50,000 60,000 10,000
Ootlg 7 10,0002 *500%£ 5,000
Oa=ZE oM 2e 5,000&+1,000& 5,000
OZtel A 7 10,000,000& * 14! 10,000
FALE 2RI 5,000 6, 00004 30,000
301 Et2E = 1,200 1,200
11 HALLHIXIE 3 1,200 1,200
OZAE S92 =d - 2l 89 &4
100,0002 6 & *23] 1,200
305 iat=s 5,000 10,000 A5,000
01 tHa =S 5,000 10,000 A5,000
OJt24 22| biat 5,000,000 * 14! 5,000
401 AIEHIZL 2 0HY| 183,000 183,000
01 AlIZHI 180,000 180,000
OZEAl Algt k24 X4
30,000,000 x14! 30,000
OJtz2== 0| (ZAL XIES S)
10,000,000& * 14! 10,000
OJtz22 UHAN =4 (MYE)
80,000,000& *14] 80,000
Otz flg= HddH
20,000,000& * 14! 20,000
O8EXE Jt24 A DHAI
40,000,000 * 14! 40,000




A= FHEd= 2A =X
M ZEZACA
ol TAISSE B35 (SH9 H2)
Al = XNZH . C2| (S (=] =2 OH @l‘—jE =2t
A3 - 2A - Y- 0A(3) - AIRAY - B85 Ofl &4 Ol AtoH ] IME=
03 AIZ20HYI 3,000 3,000 0
Otz =4 el
3,000,000& %14 3,000
2 |2l 587,980 959,600 A371,620
201 Let2aY| 2,200 6,600 A4,400
01 AtR2t2|HI 2,200 6,600 A4,400
OJt=sUdl JtZ24 23 d=Xt St
550,000 x4 2,200
206 M=Hl 12,000 40,000 28,000
01 M=Hl 12,000 40,000 A28,000
Ogstzts mlol s3ti 7
200,000 %17 .5& 3,500
O+=22s8 25 7Y
3,500,000 14 3,500
Og8 AlblE HHl 7
5,000,000 *14 5,000
401 Al HIZL 201 573,780 913,000 A339,220
01 Al&€HI 570,780 910,000 A339,220
Otz =835t At 40,000,000 14! 40,000
Otz HollE LMAY
70,000,000+ 14| 70,000
Otz dF2d jd
20,000,000 * 14! 20,000
Otz 2@ SEAtE FHl(RsS 238X E
otz FHI S) 20,000,000 * 14! 20,000
OLAF 2= HAH 10,000,000+ 14| 10,000
Otz XI=ZH| 10,000,000& * 14! 10,000
OZEAS HUR It24 UKSFYS
40,000,000& *x14] 40,000
Ool2ltz2= K2l
20,000,000& »14] 20,000
OJtstidl JtZ= 2=
20,000,000 *14! 20,000
Otz 2529 =2 34l & &+ A =
£ 88X 100,000
odFd 2 229 =EIYI
50,000,000& »14] 50,000
oSRA JI24 229 SETH
50,000,000 *14! 50,000
Otz =8 FHl(x=20U321)
40,000,000& *14] 40,000
OdeEld FF04 Jt24 MY (BHR
g3 MEE) 180,780,000 *14] 180,780
03 Al 2 THHI 3,000 3,000 0
Otz |Xlzel At
3,000,000 *14] 3,000
SSHEE x4 30,000 30,000 0




= dHEd= A =R
B ZEEorC Al
ol TAISSE B35 EER=E)
4224 B G9(SH) - AIRAY - BES of v e HIDE2
401 Al HIZL 2018 30,000 30,000
01 Al&H| 30,000 30,000
Olts,==2S =2
10,000,000 *37H 2= 30,000
=X E2 2d2tel 945,740 1,383,468 NA437,728
101 21A4H| 564,540 550,868 13,672
04 JIZtN2 2N S 2 564,540 550,868 13,672
Otz & =XAIE 22 22 367,240
=JllEag 144,600 x11H 82 22 279,946
oFxFsd 144,6003 x11H 32 50,900
o4l 2= 330,846,000& 11% 36,3%
Oz & =XAE 2] R (=) 175,840
S 95,2003 x8H+8E 22 134,042
oFxFd 95,2002 8 »32& 24,372
cAUEE= 158,414,000& 11% 17,426
Oz 25 E8Hl € 2% Xl
144,600 x10E =10 14,460
Ot EH| Xs 7,000,000 * 14 7,000
201 Ler23 | 54,500 55,500 21,000
01 At22t2lt] 38,500 41,500 /3,000
OZY M EXIE HMZ, 7
2,000,000 %14 2,000
O=AME =0 =8 25
3,000,000 %14 3,000
Oxg= A =238
5,200,000 * 14 5,200
O=XAIE Hgae - 88 2 HUxteg St
800, 000& 12~ 1CH 9,600
OsAl 28 =47 30,0002 302 900
OMEHZEXl 22| HHISXE
400,000& 102! 4,000
OoXgs & et 7
300,000 64 1,800
O==HE S HAIZ 7Y
2,000,000 %14 2,000
O=sizel 28 2,000,000 *14] 2,000
OsXEd=s 2l US| =52
2,000,000& *14] 2,000
O=AA dEHel SRt
500,00084x 12! 6,000
02 S3=gHl 16,000 14,000 2,000
O=XAIE 2 el - HF 1 =4
5,000,000 * 14 5,000
O=Xl € Jiz= 2l il {F
10,000,000& * 14| 10,000




= dHEd= A =R
B ZEEorC Al
Rl TASEE2 8 (SH9 H2)
4224 B G9(SH) - AIRAY - BES of v e HIDE2
O=Al € Jiz2c| 284 28
1,000,000 %14 1,000
202 04dl 6,000 6,000
01 2L AL 6,000 6,000
OSA=3122 85 Q2w
200,000 x6H *53] 6,000
203 gF=4| 1,600 2,000 A400
03 A=A 2= 1,600 2,000 2400
OSXAHGR=A 1,600,000 *14] 1,600
206 M=l 55,000 120,000 65,000
01 MZH| 55,000 120,000 65,000
=S| FHE Y
10,0003 #5002 5,000
OoJizgda =248 =3 7Y
5,000,000 *14 5,000
O=Xzel 22X 2
10,000,000& * 14| 10,000
O=g2c bz 7 10,0002 *1,000% 10,000
OMBHZXl 22l Xt
5,000,000 * 14 5,000
O3=5 MHZX 2= 2
10,000,000 * 14| 10,000
Oll=sXNAE 2SI 2
10,000,000& » 14 10,000
305 =S 5,000 5,000
01 Hie=S 5,000 5,000
OXZAME (U=, =4 S) 2l tias
5,000,000 *14 5,000
401 Al HIZL S 0HYI 205,000 585,000 A.380,000
01 Al&HI 200,000 580,000 380,000
O=sXNEBAE Z2R X2
50,000,000 * 14 50,000
O=sAU ==(23AL)dds g
60,000,000 *14] 60,000
O3S (MHEHZXI) FHI
30,000,000 *14! 30,000
OmPIZE Melsd 20,000,000& * 14| 20,000
OFsA sy 10,000,000& * 14 10,000
OJIsUBl =XAIE 2t
30,000,000 *14! 30,000
03 AIE S THYI 5,000 5,000 0
OsA 22 xdael 5,000,000 *14 5,000
405 AHaHE S 54,100 59,100 25,000
01 AL =S F = 54,100 59,100 /5,000
O=X2cl =J] 2 650,000 +2CH 1,300
O=x=gae| &I 7Y 800,000 1CH 800




A= JHEE= £AM 0 sX
M ZEFATA
&t SAl=EEt &F (CH9: &S1)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
S=- AR T &= - Ofl &t se
OJtS0hHdl 2= 2==D| F¢
2,000,000 *1CH 2,000
O&t=8 A=t 2L 50,000,000 = 1CH 50,000
O=sXzx=d 2 2el 50,000 150,000 100,000
401 Al&HIZ20HY| 50,000 150,000 A100,000
01 AlEHI 50,000 150,000 A100,000
FRE2H U= szt
30,000,000& *14! 30,000
OF&2H =X =4
20,000,000 14! 20,000
28 HEZ A 670,182 1,495,976 N85, 794
101 @l H| 373,342 364,136 9,206
M JItHI2E2 S ES 373,342 364,136 9,206
OZ2F & 3=F] MEHEX 22| IR 67,006
oJlEgs 104,800& x3H 160 50,304
oxFaY 104,800& x3H 32 10,061
ciEE= 60,365,000 *11% 6,641
OZZXH & XA ARA(E) 304,336
=Jll2g 95,2002 * 15 160 228,480
oxFaY 95,2003 15 x32 45,696
ciEE = 274,176,000& *11% 30,160
oerdzs Xa 2,000,000 14 2,000
201 ZEeH2E ] 16,840 16,840
01 At 22|l 3,000 3,000
Ostz 2t Xz 300,000& 103! 3,000
02 2324l 13,840 13,840 0
OZRE & =% MUIEX Fstx ==
200,000 x 14! 200
OZRY « st=7 MUHZEX MIIZ
240,0002 30 2+ 123 8,640
OZEE & MUHZEX HA=H|
5,000,000& 14! 5,000
206 =4I 160,000 335,000 A175,000
01 M=l 160,000 335,000 A175,000
O&atE 7¢ 20,000,000 * 14! 20,000
OmZdR ZE & 2 7Y
20,000,000& 14! 20,000
Ozx=% & x3=2 dHlg &
10,0003 *2,000%£ 20,000
OZZ THHH FeFM 2
10,0002 *1,0000H4 10,000
OZMN & Xt 7 10,000,000 14! 10,000
OZ9 Jel ofdst Y ATHMZE ¢
20,000,000 14| 20,000




= dHEd= A =R
3 ZEFSTA
ol TAISSE B35 (SH9 H2)
A= - BA -3 HA(SH) - AR - B Y Off &4 %E% BlunsZ
OHEZ =18 7
50,000,000 *14] 50,000
Os8s uH & A7 EXE =202 78
10,000,000+ 14! 10,000
401 AIEHIZL 20| 120,000 780,000 660,000
01 Al&ZHI 120,000 780,000 660,000
OAIDIAl St &2 & 2t
20,000,000 * 14! 20,000
OZRZ HIHGI*A B4 2 |X2e)
20,000,000+ 14! 20,000
O ATHHNEX] HILGISA B4 2 |2
el 10,000,000 *14] 10,000
OHEEZ CIXt2 2HE Set AMAE
30,000,000 %14 30,000
OHEZ AN - 22 A
40,000,000 *14] 40,000
S8s =AU F4l 149,036 156,768 AT, 732
101 1A 99,036 %,768 2,268
M IRtHZZ2HSEs 99,036 %,768 2,268
OS8s =32 FA2AL| A2
104, 8002 #2170 A *3H + 152 99,036
206 M=Hl 10,000 10,000
01 M=Hl 10,000 10,000
Osds Z&xd & |A2d M=
10,000,000 *14] 10,000
401 AIEHIL 20| 40,000 50,000 10,000
01 Al&HI 40,000 50,000 10,000
Os8s =82 &4 & 4l
40,000,000+ 14! 40,000
LSS/ EL(MEAY) 150,000 0 150,000
< 129,000
Al 21,000
401 AIEHIZL 20| 150,000 0 150,000
< 129,000
Al 21,000
01 Al&ZHI 150,000 0 150,000
ou=esd &4 & 22|
150,000,000 14 150,000
< 129,000
Al 21,000
SMEMBIAERD 28 NE(ZAIsA22E 29)(H 22,165 21,105 1,060
EAt)
< 14,407
Al 7,758
101 el4H| 22,165 21,105 1,060
< 14,407




= dHEd= A =R
B ZEEorC Al
ol TAISSE B35 EER=E)
4224 B G9(SH) - AIRAY - BES of v e HIDE2
Al 7,758
04 JIZtN2 2 XS E 22,165 21,105 1,060
O Al=X2el& 22,165,000& 1 22,165
s 14,407
Al 7,758
Sctl BelXl &4 86,600 266,500 A179,900
201 el 6,600 16,500 29,900
01 Al222lH] 6,600 16,500 19,900
OBt S2IX Z2I8 aaxt YXt
660,000 102 6,600
206 M=l 50,000 200,000 A 150,000
01 b 50,000 200,000 A 150,000
OBty 22IX 488 HER(ASHE) 7
=t 50,000,000& »14! 50,000
401 AIEHIZ SR 0HYI 30,000 50,000 /20,000
01 Al&HI 30,000 50,000 220,000
OZ2cts eIkl &4 30,000,000 *14{ 30,000
HELNHE = £d 500,000 1,500,000 1,000,000
Jl 250,000
== 75,000
Al 175,000
401 Al HIZL S 0HYI 500,000 1,500,000 1,000,000
Jl 250,000
=S 75,000
Al 175,000
01 AlZ8| 500,000 1,500,000 1,000,000
NEEIE I
500,000,000& *14] 500,000
7l 250,000
= 75,000
Al 175,000
L2 (HEAIY) 200,000 0 200,000
[ 130,000
Al 70,000
401 AlEHIZL R0 200,000 0 200,000
= 130,000
Al 70,000
01 Al&HI 200,000 0 200,000
Oz =4 & 2el
200,000,000 * 14 200,000
= 130,000
Al 70,000
A8 F24 g3 FIt - NYFEA =d 3,065,000 0 3,065,000




D BHEE= M ¢ =Xt
ZESoC A
TA=t82t EF (SH9 H2)
224 3. B(3H) - ASAY - BAS 0 &y e HIRS2
201 Let2AY| 50,000 0 50,000
01 A22teld| 50,000 0 50,000
O=28X U A2 50,000,000 * 14! 50,000
308 AXISHHMSOIH 10,000 0 10,000
13 SI| 2SI CHeZ A X EAISHI 10,000 0 10,000
05 20t NYEA 24 31 S Y=
10,000,000 * 14 10,000
401 AIEHIZL 204 3,005,000 0 3,005,000
01 Al&HI 3,000,000 0 3,000,000
Of5 20t MY LAY EXNHEY &
AtH| 3,000,000,000& 1A 3,000,000
03 Al SCHYI 5,000 0 5,000
Ogs =I XNLEJA LAY
5,000,000 * 14| 5,000
OtXMBI OFECHR 2012l CHED| AFE(F0IEC 0lAH 50,000 0 50,000
401 Al HIL20HH| 50,000 0 50,000
01 Al&HI 50,000 0 50,000
OOotEst] OFECHR 212l 2HED] AP (121
=) 50,000,000 14! 50,000
SEUHR~-ETES HE ZUSR ATH AFL (F2IE0{ 0l A 18,000 0 18,000
401 Al HILS0HY| 18,000 0 18,000
01 A&t 18,000 0 18,000
OBUR-ZTE MY BUR ATH Atel(
SHES) 18,000,000 * 14! 18,000
SENEEAE(TEAIY) 30,000 0 30,000
T 19,500
Al 10,500
401 AIEHIZL 204 30,000 0 30,000
= 19,500
Al 10,500
01 Al 30,000 0 30,000
O=saRAnE XA
30,000,000 14! 30,000
& 19,500
Al 10,500
LELSESFA 2H2L 2,763,964 3,877,627 1,113,663
= 70,368
& 114,258
Al 2,579,338
LSS5 22| 1,520,228 2,080,055 A\5R9,827
101 214d| 505,998 425,745 80,253
M4 IJI2H2ENSE S 505,998 425,745 80,253
O£+ 3 OHl & =Xt2e| olAy| 33,108
oJlea 95,2003 * 1230 21,89%




A= ZHetd3= FA =
3y ZESSLA
ol HEEsSE 22 EEREE)
AR .2 B . SH(FH) - HIBAIY - A2 Ol &roH g Hns2
=7 TR e = N =7 - Ofl &2k ==
oFFrY 95,2002+ 18 =46 4,380
oA\ Xt 95,2003 x 1+ 11 1,048
oAlRteI=¢
17,8003 1 +BA| 2hx15& 2,142
o4l 8= 29,466,000 *11% 3,242
SHAHE IS 200,000 *1 23] 400
Ose+=2 =5 & AlZa2] 2ANS 2
=\ 402,502
=JlEs 104,800 13«25 2 +9F 306,540
oFFsd 104,800 x 13 362 49,047
o4l 282 365,587,000 *11% 39,115
SHAHE IS 200,0002 * 1332 7,800
OL£g+=3 0F2F Fat2el 2|
61,1002 x4 +242 x 12 70,388
201 el 179,480 183,800 A4,320
01 At22t2ltl 48,420 57,840 29,420
OS2 2883 & 22X 2L
2,500,000 14 2,500
o=zl 11,520
ox=E 22N S
8,000 x4 *302* 12 11,520
OARIDI A28 FY
4,000,000 14! 4,000
O+=HE & FHEAZ 7Y
2,000,000 %14 2,000
O==d 822 MH 4,000,000 14} 4,000
O=S8 MIIAHHA =8
400,000 <122 4,800
OReIFH| =8 250,0008 * 12 3,000
OCCIV Al &el =2 450,000 12 5,400
Ogxt= 4,000
oS 22| ZHl Yxt
3,000,000 *14] 3,000
o=F M AIS2 1,000,000 14 1,000
Odal+g 60,0003 x1&*120& 7,200
02 S3=gHl 131,060 125,960 5,100
03323 € MAl 109,000
oxS¥ FX ¥ BEusAE
1,000,000 14| 1,000
ox=E M Y HoIESSE
3,000,000& 123 36,000
oSARY 22 M| 28
6.,000,0002 122 72,000
O==2 Azt 6,160,000 *14] 6,160
OAlEEHIF I 9,500




A= ZHetd3= FA =
3y ZESSLA
ol HEEsSE 22 EEREE)
Al = % o|(5 = dMEE =
A - 24 - 3 - GAEH) - ARAY - BES Ofl &F2H Ol Akt Hwusz
oS HH KFRU
2,500,000 *14] 2,500
o&gS 2| ALEH KXY
5,000,000 * 14 5,000
oXMAlI2a AIEEHl {AH|
2,000,000 *14] 2,000
OZclitg 28z 1,000, 0002 *2CH 2,000
OZelxtg Sl 1,000, 0002 «2CH 2,000
OzeIxteg & SH2EA FF
200,000 * 122 2,400
202 04| 4,000 8,160 A4,160
01 =LHO1H| 4,000 8,160 4,160
Osg+=32 23822 g2 =2
20,0002 4503 4,000
206 M=l 87,000 116,000 229,000
01 MZH| 87,000 116,000 29,000
OOFMBITHH & & +&
4,000,000 * 14} 4,000
OOrlE I & 2 3t P2
3,000,000 *14] 3,000
OAltl & HIZ 7Y 4,000,000& * 14} 4,000
=5 % F35 LM 7L
2,000,000 %14 2,000
Ox==2e| FE8& 7Y
3,000,000 *14] 3,000
O==2 % ordst ¢
50,000,000 x 14} 50,000
Oogxlg oM +¢ 3,000,000 14} 3,000
Ozel i 7 8,000,000& *14] 8,000
O=24 & REzyze| I 7
5,000,000 %141 5,000
Ozd 228 A2 7Y
5,000,000 14| 5,000
401 AIEHIL RO 740,000 1,302,000 A562,000
01 AlZH| 740,000 1,300,000 /560,000
OAHHIE D& Al 40,000,000 * 14} 40,000
OANdg |AE=(UALH )
150,000,000 *14] 150,000
O=2 2 xst7 SAY
50,000,000& » 14 50,000
O==2 g8 HEs 89
500,000,000 141 500,000
405 AtatE = 3,750 44,350 240,600
01 Tt =S F=SH 3,750 44,350 240,600
OS2xt ¢ 250,0003*15H 3,750
=52 & AN Ed TH(LSESEFF 22A)( 100,000 100,000 0
SEAL)




A= ZHetd3= FA =
3y ZESSLA
ol HEEsSE 22 EEREE)
A (=] X ol (3 (=] E-Ill‘jE =
A - 24 - 3 - GAEH) - ARAY - BES Ofl &F2H Ol Akt Hwusz
< 65,000
Al 35,000
401 AlEHIZL S0 100,000 100,000 0
= 65,000
Al 35,000
01 Al&HI 100,000 100,000 0
OZEES+=A 22AY
100,000,000 14 100,000
=S 65,000
Al 35,000
SESTLE 2S(+=S|2CIUI0IE) 23,400 22,908 492
= 11,700
= 8,190
Al 3,510
101 21AH| 23,400 22,908 42
= 11,700
= 8,190
Al 3,510
MU IIRINZZENSES 23,400 22,908 492
O===2&20UI0IH 23,400,000 * 1 23,400
= 11,700
= 8,190
Al 3,510
=old 29 58,668 57,332 1,336
= 29,334
= 20,534
Al 8,800
201 Zet=E] 58,668 57,332 1,336
= 29,334
[ 20,534
Al 8,800
01 AFR2teltl 58,668 57,332 1,336
O=dld 29 58,668,000 *14] 58,668
= 29,334
== 20,534
Al 8,800
Fotzus 29 58,668 57,332 1,336
= 29,334
== 20,534
Al 8,800
201 fer=3| 58,668 57,332 1,336
= 29,334
S 20,534




AR FHERZ SN =X
I Z2SUCA
o9l USLEL2 22 (crel: g)
424 - ZH - O9(E) - MRAY - BES ofl & A HDS
Al 8,800
01 ArR2eltl 58,668 57,332 1,336
S015DS 29 58,668,00021 %141 58,663
= 29,334
= 20,534
Al 8,800
22 012 EXI0HY 950,000 300,000 650,000
401 AIEHIZ 2018 950,000 300,000 650,000
01 Al&HI 950,000 300,000 650,000
O%22 012 EXHY
950,000,000 %14 950,000
2SIt H=s =2 53,000 60,000 A7,000
201 L2 52,000 59,000 A7,000
03 A2 G| 52,000 59,000 AT7,000
O=s284 23 15,000,000& % 14! 15,000
Oooted 228 24
10,000, 00021* 14} 10,000
OHls, s, OE 2208 S 29
10,000,000& * 14! 10,000
O£22%8l, Ehilis, JHA2DS
7,000,000 14! 7,000
Ozg+28 oRME 220
10,000, 00021* 14} 10,000
301 EtE2E = 1,000 1,000
11 HAFRHIXIE 3 1,000 1,000
Ozg+28 BARY
1,000,000& *14 1,000
HEE TAISH 10,750,271 11,890,768 A1,140,497
= 25,000
Al 10,725,271
ANB3 =4 - 2el 2,115,692 2,633,579 AbB17,887
= 25,000
Al 2,090,692
TASE AIE S22l M 342,590 1,104,000 AT761,410
401 AlIEHIZL 2 0HY| 292,590 1,104,000 AB811,410
01 AIEHI 289,590 1,099,000 809,410
OBHANERT 24 269,590
oT RNV (AZDHAE, £28
F e 2 2AS)
139,590,000 * 14! 139,590
ST 2SI ¥ BOIAL &X
20,000,000& *14! 20,000
oT WHE WA L LILFA
10,000,000& * 14! 10,000




A =X

mo: YHe CABR
=Rl TAISE X - 2 EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Ao A CmE==T
o020l B 2efbig M A=
20,000,000& x14! 20,000
o2E=LX il 40,000,000 *14] 40,000
o?2IZ0RA AEE B
60,000,000& *14] 60,000
03 AIZ20HHI 3,000 5,000 22,000
OSEANE |2 3,000,000 14! 3,000
405 KHAHF SH 50,000 50,000
01 AL ESHSHI 50,000 50,000
O3 A4 2elg EY 2¢
50,000,000 *14] 50,000
TASE etz 1,471,902 1,434,979 36,923
101 e124d| 1,035,802 1,007,819 27,983
04 JIZtN2Z2 X SE+ 1,035,802 1,007,819 27,983
OSASE LAIMS 22XHIIAH) 420,600
=JlE2g 144,600 » 10 »2002! 289,200
oxsag 144,6002 #10H «33 47,718
cXtrg 144,600 10+ 10 14,460
cAHEEE 351,378,000 *19. 7% 69,222
OZAIZSE AN 22XHSE) 609,202
oll2= 95,200 x22H+200 418,880
oxgd 95,2003 x22H +33 69,116
o HR=g 95,2003 x22F « 10! 20,944
cAUEE 508,940,000& %19. 7% 100,262
O=27% e EHl e
6,000,000 14! 6,000
201 LB2 ] 349,100 337,160 11,940
01 AFR2t2ltl 100,900 98,600 2,300
OAEE 272 =4 10,000,000+ 14! 10,000
(OFSEA =211 3,000,000 *14 3,000
ONE0I=0lAIE erM 2| w=H|
100,000& *22 200
ONE0I=0IAIE EIIQHE A ==
400,000 x287H A 11,200
O2+AIE HJIHd 22l U ===
600,000 122 7,200
O3 &el dHl 8xtz
5,000,000 * 14! 5,000
OLAINA2 2} SEHUHX X XE
10,000,000 x 14! 10,000
OS2ANE FHEE A =2
7,000,000 * 14! 7,000
OstEa e |RIE+SS
7,000,000 * 14! 7,000




=: dNeE= A =X

S HEE TAIZE
=Rl TAISE X - 2 EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
OEANSE 3FH LD =& 7
20,000,000& 14! 20,000
OZAIZSE =2 & 2+E o EE2= M
450,0002 *340H 2~ 15,300
OZAIBAAAS Aol =
100,000 10 +53] 5,000
02 E324H| 248,200 238,560 9,640
OZ2322=2 & Al 237,800
o4 - otk 2= 5,000,000 12& 60,000
oNMIINE 3 14,000,000 * 122 168,000
oSt 23 250,000& =123 3,000
ozZL Xl 400,000 *10JH A& 4,000
o{El0] =O0lAId AtDHHA MASE =
100,000 *287H 2 2,800
O3 L&l ==clhl
2,000,000 14 2,000
Oxtgd & Al EHl |FH
700,000& =123 8,400
206 M= 4l 80,000 80,000
01 M=l 80,000 80,000
O=dae| =85 2
30,000,000& * 14! 30,000
O3dze| Mg 2L 50,000
o33 522 MB(BI, 01, 24HS)
30,000,000& %14 30,000
oZRANEE BT 7L
20,000,000& * 14! 20,000
305 HH&l =S 7,000 10,000 A3,000
01 tial=2= 7,000 10,000 A3,000
O&olitia = 7,000,000 14 7,000
SAZE X4 - 22l 23] 8,000 3,600 4,400
202 04d| 8,000 3,600 4,400
01 2LHOLI 8,000 3,600 4,400
OZAB& =4 FE0HYI
20,000 x4 *1002] 8,000
SAl AEISE FH 10,000 20,000 210,000
401 AIEHIZ 2018 10,000 20,000 210,000
01 AlEHI 10,000 20,000 A 10,000
OtEsd ANE2 B & =AM
10,000,000 14 10,000
SAZEE X2E 23,200 21,000 2,200
201 23| 23,200 21,000 2,200
01 AtR2eltl 23,200 21,000 2,200
OEXNMEZ 23,200,000 * 14! 23,200
223 A sXH FA22U(SHS) 10,000 50,000 240,000




A =X

B AHs CAD
ol EAIEE 29 - 2l (Gt H2)
Al .2 - HE . CI-_?.|(§D:") c NIEAIY - HA S Of| AFOH ST Hnz=2
Smo AR e T == B Ofl &k ==
401 AlZHIYL 20 10,000 50,000 240,000
01 Al&Hl 10,000 50,000 240,000
OAl&HI 10,000
oAZ¥ B & A AL
5,000,000& 14 5,000
o=kt X2l 5,000,000 *14] 5,000
A TAISHE Z2XH AXAL 50,000 0 50,000
= 25,000
Al 25,000
401 AlEHIL 20 50,000 0 50,000
== 25,000
Al 25,000
01 AI&HI 50,000 0 50,000
OZ&xY &R 50,000,000 *14] 50,000
= 25,000
Al 25,000
A4 S0 HA OS] AF(FRIE 0l AH) 200,000 200,000
401 A2 HIL 2T 200,000 200,000
01 Al&HI 200,000 200,000
OF&xY L AIEE X 14
200,000,000 *14] 200,000
Agd2 HUlAY 402,439 438,189 235,750
23tel2E 243t 402,439 438,189 A35,750
101 el t| 197,231 178,381 18,850
M IItHI22 S E 197,231 178,381 18,850
O&3tHe| LAIAIS 12| 196,231
oJllEgsg 95,200 *6H 2302 131,376
oxFaY 95,2002 6 »46 26,276
o HI=Y 95,2002 x6H 11 6,284
c4UEE = 163,934,000& %19.7% 32,295
O22 Xt e Ed| -
1,000,000 14! 1,000
201 LEr2Z 151,208 151,808 AB600
01 AtR2eltl 104,000 116,000 212,000
O3t&Ea 29, Hel 33l 228 7
10,000,000 14! 10,000
O=FMa Xt ArES XS (E3tel)
90,000,000& * 14! 90,000
O&sNHel2Yg eti=, 89 &
4,000,000 14! 4,000
02 2324l 47,208 35,808 11,400
OgstHel &g 2,800,0002x12& 33,600
OZ3tHel &ot=Ea 784,000 *12& 9,408




D ZHEE=

A =X

Ciol: XIHE HbIAIL (cie) 29
- 2N B GRAEH)  ARAY - BES ol &4 e HIDEY
O&Sitg FA2=H|
3,000,000 *14] 3,000
Oo&ExtE 7= 100,000 «12& 1,200
206 =4I 2,000 3,000 21,000
01 XH=4l 2,000 3,000 A1,000
O&ztel 28 M=H]
2,000,000& %14 2,000
401 AlIEHIZL 2 0HY| 52,000 105,000 /53,000
01 A=l 50,000 100,000 /50,000
OFaI2l RAB4 A
50,000,000& x14! 50,000
03 AlZ = THHI 2,000 5,000 A3,000
OZalel 29 24dstatg
2,000,000 *14 2,000
ofers =X5 3238 &4 8,232,140 8,819,000 A586,860
SHorH =Xs S TEAMS(FE2KF) 2,671,140 8,819,000 A\6,147,860
401 AlIEHIZL 2 0HY| 2,671,140 8,810,000 26,138,860
01 Al&H| 2,661,140 8,800,000 26,138,860
OdfietH =X= S3st DAY 29
320,600,000 *14] 320,600
OdlietH =X= S3st DAY 24
2,300,540,000& 14! 2,300,540
OZHE2X| 7 BIAHAAY
40,000,000& 14 40,000
03 A2 CHYI 10,000 10,000 0
O XlZel At 10,000,000& *14] 10,000
oot =XI= s ZLEA(ZZIXR) 4,999,400 4,999,400
401 AlEHIZL R OHY| 4,999,400 4,999,400
01 AlZHI 4,999,400 4,999,400
Odlet =X5 s ZLAY 37 89
] 29,400,000 * 14! 29,400
OdlietH =X= S3s DAY 24
4,915,000,000& *14] 4,915,000
OZE3X|7 QoA At
55,000,000 x 14! 55,000
M2 3K+ Lt 161,600 161,600
101 e124d| 127,020 127,020
M4 JRHHZ2Z2XSE+ 127,020 127,020
OsSetad 2 UFY 52,203
ollEgs 95,2003 »2&+2102 39,984
oFsad 95,2003 2 *30! 5,712
oAXtE 95,2003 2 *7 1,333
cAUEE = 47,028,800 *11% 5,174
OSEESHE(ME i) 2Y 74,817
=JllEa 95,2003 »4ZH %1502 57,120




A= JHEE= £AM 0 sX
S BHEEE TAISE
CHol: GHOlH =XIS DG T4 (crol: m2)
A2 2N - FB - O9(E) - HIRAY - BES A SimE==t
oxFaY 95,2003 #4H+22 8,378
odHXt+E 95,2003 x4 H+5 1,904
cAUEE = 67,401,600 *11% 7,415
201 B2 AL| 20,980 20,980
01 ArR22ltl 8,600 8,600
OS=st&a A28 L HogE 7Y
270,000 =23 *5I1 2~ 2,700
O3=stE4 &K 2
40,0002 *35Et A 1,400
OS=SHEA CHHEXIE HI&
100, 00021574 2 500
OB40 Q oY BEE U
4,000,000 »14! 4,000
02 324l 12,380 0 12,380
O34 ks
50,0003 *5IH L+ 12& 3,000
O3 =ER=
50,0003 x5 L+ 128 3,000
OZEaBA Bu4)E
23&%12,0002| & %500 A 1,380
O2E3&EA AL =6 |
1,000,000 54 & 5,000
202 04dl 3,600 3,600
01 =LHO4 b 3,600 3,600
OZESASAIE FE Y|
75,0003 *4F 123 3,600
308 AHXIHMSOIH 10,000 10,000
13 I 2 SOIHeHE &R IS AL 10,000 10,000
(OFSE ST = 10,000,000 & * 1A 10,000
W7 SAEZHHE(HE) 200,000 200,000
401 AIEHIL20HYI 200,000 200,000
01 AlEHI 200,000 200,000
Ousrad 3AXHHE(HE) 89
200,000,000& * 14! 200,000
SAZeHE (2=, FHSH) & SAELHE(H 200,000 0 200,000
)
401 Al HIZL 200 200,000 200,000
01 Al&HI 200,000 200,000
OZAlZe|HE & ST E HAEEY
200,000,000 14 200,000
HHY2AAYI (=KD 33,880 32,016 1,864
234 33,880 32,016 1,864
J|=2Z&| 33,880 32,016 1,864
201 B2 AL| 25,480 21,616 3,864
01 ArR22ltl 25,480 21,616 3,864




A =X

HY2AFH|(=XL)
o= SEIEIED
CRA - FB . OR(BIH) - HIRAY - B ol b e HlmS2
OHEANRES FLHI 200,000 123 2,400
OARE &M P2 10,000& x202H 200
Qt2H== 20,0003 65+ 128 1,440
OJIEr =&H| 200,000& =123 2,400
OH-EMRBII 422 U3
5,000,000 x14! 5,000
OF=)| gtz 60,0003 * 122 204 & 1,440
O=) gtz 250,000& =123 3,000
Ol |28 R34l
8,000 x10F 10+ 12& 9,600
202 Ot 4,800 4,800
01 =WHO4bI 4,800 4,800
OJ|2g2=& ¢t
100,000 12 43| 4,800
203 PR =&IH| 3,600 3,600
M EAN2IHRFA| 3,600 3,600
ORAN2ILRF&I 300,000& =123 3,600
RS (=X 7,000,000 0 7,000,000
LHEHH K= 7,000,000 0 7,000,000
LHEHH K= 7,000,000 0 7,000,000
701 JIEt2 HISEHEZ 7,000,000 0 7,000,000
01 JIEtSIHEEZ 7,000,000 0 7,000,000
OO0 TAIHEANLEHANSELES
AH HES 7,000,000,000& *14! 7,000,000




